National Testing Agency

Question Paper Name :
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :
Examiner permission :
Show Progress Bar? :

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section 1d :

Question Shuffling Allowed :
Is Section Default? :

Part A

Jain Darshan Eng 06th June 2023 Shift 2
Jain Darshan Eng

2023-06-06 22:22:49

120

400

Yes

Jain Darshan

1
92090619
0

120

No

No

0

400

No

Cant View
No

92090637
1

Online
Mandatory
21

21

100

Yes

0

1
92090655
No

null



Question Id : 9209061819 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension






The SC said, “Postings within the state cadre as well as joint cadre of a consitituent
state shall be made by the ‘government of that state’, that is, by the duly elected government.
In our case, it shall be the government of NCTD. We, accordingly, hold that references to
‘state government' in relevant rules of All India Services or joint cadre services, of which
NCTD is a part or which are in relation to NCTD, shall mean the government of NCTD.”

CJI Chandrachud said this case dealt with the asymmetric federal model of governance
in India involving the contest of power between a Union Territory and the Union government.
The issue was who would have control over ‘services’ in NCTD a government of the NCTD or
the LG acting on behalf of the Union government a question which arose subsequent to a May
21, 2015, notification by the Union ministry of home affairs that gave the upper hand to the
centre on ‘services' in relation to the government of NCTD.

While ruling that Delhi government had legislative and executive power over services
except on land, police and public order. the bench, importantly, said GNCTD being one of its
kind (“sui generis”) Union Territory, parliament would have overriding legislative power over
all subjects in list 2 (which are excluzive domains of state legislatures) and List 3 (Concurrent
List subjects on which both parliament and assembliesv can legislate with primacy given to
parliament enacted laws). This means, if the Delhi assembly enacts any law on any subject,
parliament can pass a law “adding, amending and repealing” the legislation passed by the
Delhi assembly.

Dwelling on federalism and responsibilities of an elected government, the CdJl said, “In a
democratic form of government, the real power of administration must reside in the elected
arm of the state, subject to the confines of the constitution. A constitutionally entrenched and
democratically elected government needs to have contol over its administration. If a
democratically elected government is not provided with the power to control the officers
posted within its domain, then the principle underlying the triple chain of collective
responsibility would become redundant.” It explained the triple chains as civil service officers
being accountable to ministers, ministers being accountable to parliament/legislature and
parliament/legislature being accountable to the electorate.

“That is to say, if the government is not able to control and hold to account the officers
posted in its service, then its responsibility towards the legislature as well as the public is
diluted. The principle ofb collective responsibility extends to the responsibility of officers, who
in turn report to the ministers.” the 8C said.

Taking into account the AAP government's allegation that bureaucrats were not
listening to ministers in the elected government because of the centre’s interference, the five-
judge bench said, “If the officers stop reporting to the ministers or do not abide by their
directions, the entire principle of collective responsibility is affected.

“A democratically elected government can perform only when there is an awareness on
the the part of officers of the consequences which may ensue if they do not perform. If the
officers feel that they are insulated from the control of the elected government which they are
serving, then they become unaccountable or may not show commitment towards their
performance.”

Explaining the risks of an unaccountable bureaucracy in a democratic form of governance
where accountahility is well defined under the triple chain of command, the bench said, “An
unaccountable and non-responsive civill service may pose a serious problem of governance in
a democracy. It creates a possibility that the permanent executive, consisting of unelected
civil service officers, who play a decisive role in implementation of government policy, may act
in ways that disregard the will of the electorate.”



Sub questions

Question Number : 1 Question Id : 9209061820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Responsibility towards public is dituted means:

(1) Complete failure in taking responsibility for the public.
(2

) The responsibility was not properly taken care of.

(3 The responsibility became thinner.

(4) More responsibilities were added to the last meant for public.
Options :

9209067201. 1

9209067202. 2

9209067203. 3

9209067204. 4

Question Number : 2 Question Id : 9209061821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Posting within the state ladre of a constituent state shall be made hy:
(As per Supreme Court)

(1) Government of that state.
(2) Duly elected government of that state.
(3) By the union Government.

i(4) By both state and union Government.

Options :

9209067205. 1
9209067206. 2
9209067207. 3
9209067208. 4

Question Number : 3 Question Id : 9209061822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How the entire principle of collective responsibility will be affected?

(A) Only when officers stop responding to the ministers.
(B) Only when officiers do not abide by directions of ministries.
(C) If the officers stop reporting to the ministers.

() If officers do not abide by directions of the ministers.

Choose the correct answer from the options given below :

(1) A only

(2) A and B only

(3) A BandC, D only

i(4) C and D only
Options :

9209067209. 1
9209067210. 2
9209067211. 3
9209067212. 4

Question Number : 4 Question Id : 9209061823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Triple chain refers to: (The order or sequence)

(A) Clivil service officers being accountable to ministers.
(B) Ministers being accountable to parliament.
() Parliament being accountable to electrorate.

(D Electrorate being accountable to the government.

Choose the correct answer from the options given below :

(1) ABCD

(2) ABD

3) ABC

(4) B.C,D
Options :

9209067213. 1
9209067214. 2
9209067215. 3
9209067216. 4



Question Number : 5 Question Id : 9209061824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of ‘accomplish’ is:

(1) achieve (2) relieve
(3) improve (4) adaptable
Options :

9209067217. 1
9209067218. 2
9209067219. 3
9209067220. 4
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The SC said, “Postings within the state cadre as well as joint cadre of a consitituent
state shall be made by the ‘government of that state’, that is, by the duly elected government.
In our case, it shall be the government of NCTD. We, accordingly, hold that references to
‘state government' in relevant rules of All India Services or joint cadre services, of which
NCTD is a part or which are in relation to NCTD, shall mean the government of NCTD.”

CJI Chandrachud said this case dealt with the asymmetric federal model of governance
in India involving the contest of power between a Union Territory and the Union government.
The issue was who would have control over ‘services’ in NCTD a government of the NCTD or
the LG acting on behalf of the Union government a question which arose subsequent to a May
21, 2015, notification by the Union ministry of home affairs that gave the upper hand to the
centre on ‘services' in relation to the government of NCTD.

While ruling that Delhi government had legislative and executive power over services
except on land, police and public order. the bench, importantly, said GNCTD being one of its
kind (“sui generis”) Union Territory, parliament would have overriding legislative power over
all subjects in list 2 (which are excluzive domains of state legislatures) and List 3 (Concurrent
List subjects on which both parliament and assembliesv can legislate with primacy given to
parliament enacted laws). This means, if the Delhi assembly enacts any law on any subject,
parliament can pass a law “adding, amending and repealing” the legislation passed by the
Delhi assembly.

Dwelling on federalism and responsibilities of an elected government, the CdJl said, “In a
democratic form of government, the real power of administration must reside in the elected
arm of the state, subject to the confines of the constitution. A constitutionally entrenched and
democratically elected government needs to have contol over its administration. If a
democratically elected government is not provided with the power to control the officers
posted within its domain, then the principle underlying the triple chain of collective
responsibility would become redundant.” It explained the triple chains as civil service officers
being accountable to ministers, ministers being accountable to parliament/legislature and
parliament/legislature being accountable to the electorate.

“That is to say, if the government is not able to control and hold to account the officers
posted in its service, then its responsibility towards the legislature as well as the public is
diluted. The principle ofb collective responsibility extends to the responsibility of officers, who
in turn report to the ministers.” the 8C said.

Taking into account the AAP government's allegation that bureaucrats were not
listening to ministers in the elected government because of the centre’s interference, the five-
judge bench said, “If the officers stop reporting to the ministers or do not abide by their
directions, the entire principle of collective responsibility is affected.

“A democratically elected government can perform only when there is an awareness on
the the part of officers of the consequences which may ensue if they do not perform. If the
officers feel that they are insulated from the control of the elected government which they are
serving, then they become unaccountable or may not show commitment towards their
performance.”

Explaining the risks of an unaccountable bureaucracy in a democratic form of governance
where accountahility is well defined under the triple chain of command, the bench said, “An
unaccountable and non-responsive civill service may pose a serious problem of governance in
a democracy. It creates a possibility that the permanent executive, consisting of unelected
civil service officers, who play a decisive role in implementation of government policy, may act
in ways that disregard the will of the electorate.”
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Question Number : 1 Question Id : 9209061820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Responsibility towards public is dituted means:

(1) Complete failure in taking responsibility for the public.
(2

) The responsibility was not properly taken care of.

(3 The responsibility became thinner.

(4) More responsibilities were added to the last meant for public.
Options :

9209067201. 1

9209067202. 2

9209067203. 3

9209067204. 4

Question Number : 2 Question Id : 9209061821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Posting within the state ladre of a constituent state shall be made hy:
(As per Supreme Court)

(1) Government of that state.
(2) Duly elected government of that state.
(3) By the union Government.

i(4) By both state and union Government.

Options :

9209067205. 1
9209067206. 2
9209067207. 3
9209067208. 4

Question Number : 3 Question Id : 9209061822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How the entire principle of collective responsibility will be affected?

(A) Only when officers stop responding to the ministers.
(B) Only when officiers do not abide by directions of ministries.
(C) If the officers stop reporting to the ministers.

() If officers do not abide by directions of the ministers.

Choose the correct answer from the options given below :

(1) A only

(2) A and B only

(3) A BandC, D only

i(4) C and D only
Options :

9209067209. 1
9209067210. 2
9209067211. 3
9209067212. 4

Question Number : 4 Question Id : 9209061823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Triple chain refers to: (The order or sequence)

(A) Clivil service officers being accountable to ministers.
(B) Ministers being accountable to parliament.
() Parliament being accountable to electrorate.

(D Electrorate being accountable to the government.

Choose the correct answer from the options given below :

(1) ABCD

(2) ABD

3) ABC

(4) B.C,D
Options :

9209067213. 1
9209067214. 2
9209067215. 3
9209067216. 4



Question Number : 5 Question Id : 9209061824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of ‘accomplish’ is:

(1) achieve (2) relieve
(3) improve (4) adaptable
Options :

9209067217. 1
9209067218. 2
9209067219. 3
9209067220. 4
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The SC said, “Postings within the state cadre as well as joint cadre of a consitituent
state shall be made by the ‘government of that state’, that is, by the duly elected government.
In our case, it shall be the government of NCTD. We, accordingly, hold that references to
‘state government' in relevant rules of All India Services or joint cadre services, of which
NCTD is a part or which are in relation to NCTD, shall mean the government of NCTD.”

CJI Chandrachud said this case dealt with the asymmetric federal model of governance
in India involving the contest of power between a Union Territory and the Union government.
The issue was who would have control over ‘services’ in NCTD a government of the NCTD or
the LG acting on behalf of the Union government a question which arose subsequent to a May
21, 2015, notification by the Union ministry of home affairs that gave the upper hand to the
centre on ‘services' in relation to the government of NCTD.

While ruling that Delhi government had legislative and executive power over services
except on land, police and public order. the bench, importantly, said GNCTD being one of its
kind (“sui generis”) Union Territory, parliament would have overriding legislative power over
all subjects in list 2 (which are excluzive domains of state legislatures) and List 3 (Concurrent
List subjects on which both parliament and assembliesv can legislate with primacy given to
parliament enacted laws). This means, if the Delhi assembly enacts any law on any subject,
parliament can pass a law “adding, amending and repealing” the legislation passed by the
Delhi assembly.

Dwelling on federalism and responsibilities of an elected government, the CdJl said, “In a
democratic form of government, the real power of administration must reside in the elected
arm of the state, subject to the confines of the constitution. A constitutionally entrenched and
democratically elected government needs to have contol over its administration. If a
democratically elected government is not provided with the power to control the officers
posted within its domain, then the principle underlying the triple chain of collective
responsibility would become redundant.” It explained the triple chains as civil service officers
being accountable to ministers, ministers being accountable to parliament/legislature and
parliament/legislature being accountable to the electorate.

“That is to say, if the government is not able to control and hold to account the officers
posted in its service, then its responsibility towards the legislature as well as the public is
diluted. The principle ofb collective responsibility extends to the responsibility of officers, who
in turn report to the ministers.” the 8C said.

Taking into account the AAP government's allegation that bureaucrats were not
listening to ministers in the elected government because of the centre’s interference, the five-
judge bench said, “If the officers stop reporting to the ministers or do not abide by their
directions, the entire principle of collective responsibility is affected.

“A democratically elected government can perform only when there is an awareness on
the the part of officers of the consequences which may ensue if they do not perform. If the
officers feel that they are insulated from the control of the elected government which they are
serving, then they become unaccountable or may not show commitment towards their
performance.”

Explaining the risks of an unaccountable bureaucracy in a democratic form of governance
where accountahility is well defined under the triple chain of command, the bench said, “An
unaccountable and non-responsive civill service may pose a serious problem of governance in
a democracy. It creates a possibility that the permanent executive, consisting of unelected
civil service officers, who play a decisive role in implementation of government policy, may act
in ways that disregard the will of the electorate.”
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Question Number : 1 Question Id : 9209061820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Responsibility towards public is dituted means:

(1) Complete failure in taking responsibility for the public.
(2

) The responsibility was not properly taken care of.

(3 The responsibility became thinner.

(4) More responsibilities were added to the last meant for public.
Options :

9209067201. 1

9209067202. 2

9209067203. 3

9209067204. 4

Question Number : 2 Question Id : 9209061821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Posting within the state ladre of a constituent state shall be made hy:
(As per Supreme Court)

(1) Government of that state.
(2) Duly elected government of that state.
(3) By the union Government.

i(4) By both state and union Government.

Options :

9209067205. 1
9209067206. 2
9209067207. 3
9209067208. 4

Question Number : 3 Question Id : 9209061822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How the entire principle of collective responsibility will be affected?

(A) Only when officers stop responding to the ministers.
(B) Only when officiers do not abide by directions of ministries.
(C) If the officers stop reporting to the ministers.

() If officers do not abide by directions of the ministers.

Choose the correct answer from the options given below :

(1) A only

(2) A and B only

(3) A BandC, D only

i(4) C and D only
Options :

9209067209. 1
9209067210. 2
9209067211. 3
9209067212. 4

Question Number : 4 Question Id : 9209061823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Triple chain refers to: (The order or sequence)

(A) Clivil service officers being accountable to ministers.
(B) Ministers being accountable to parliament.
() Parliament being accountable to electrorate.

(D Electrorate being accountable to the government.

Choose the correct answer from the options given below :

(1) ABCD

(2) ABD

3) ABC

(4) B.C,D
Options :

9209067213. 1
9209067214. 2
9209067215. 3
9209067216. 4



Question Number : 5 Question Id : 9209061824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of ‘accomplish’ is:

(1) achieve (2) relieve
(3) improve (4) adaptable
Options :

9209067217. 1
9209067218. 2
9209067219. 3
9209067220. 4
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To make a meaningful paragraph:
(A) Modern scientific techniques have greatly extended the range of cloning. Now, even
animals can be cloned.

(B) Cuttings may be taken from roots or shouts, and inserted into soil or compost where
they develop into a new plant.

(C) Gardeners have been making clones of plants for centuries. Every time they take a
cutting of a geranium, a rose or any other plant, they are producing a genetically
identical copy a clone.

(1) Ultimately, Hence seems to be no biological reason why human beings should not be
cloued too.

Choose the correct answer from the options given below :

(1) C.B,A,D

(2) ACBD

(3) C.,A B D

{(4) ADCB
Options :

9209067221. 1
9209067222. 2
9209067223. 3



9209067224. 4
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Correct Marks : 4 Wrong Marks : 1

To make a meaningful paragraph:
(A) Modern scientific techniques have greatly extended the range of cloning. Now, even
animals can be cloned.

(B) Cuttings may be taken from roots or shouts, and inserted into soil or compost where
they develop into a new plant.

(C) Gardeners have been making clones of plants for centuries. Every time they take a
cutting of a geranium, a rose or any other plant, they are producing a genetically
identical copy a clone.

(D) Ultimately, Hence seems to be no biological reason why human beings should not be
cloued too.

Choose the correct answer from the options given helow :

(1) C.B.AD

(2) A CBD

(3) C.ABD

(4) ADC B
Options :

9209067221. 1
9209067222. 2
9209067223. 3
9209067224. 4
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To make a meaningful paragraph:
(A) Modern scientific techniques have greatly extended the range of cloning. Now, even
animals can be cloned.

(B) Cuttings may be taken from roots or shouts, and inserted into soil or compost where
they develop into a new plant.

(C) Gardeners have been making clones of plants for centuries. Every time they take a

cutting of a geranium, a rose or any other plant, they are producing a genetically
identical copy a clone.

(1) Ultimately, Hence seems to be no biological reason why human beings should not be
cloued too.

Choose the correct answer from the options given below :

(1) C.,B,A,D

(2) ACBD

(3) C.,A B D

{(4) ADCB
Options :

9209067221. 1
9209067222. 2
9209067223. 3
9209067224. 4
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Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given option?

(1) Triboluminescence (2) Tribaleminescence
(3) Tribooluminescenca {4) Tribulominescence
Options :

9209067225. 1
9209067226. 2
9209067227. 3
9209067228. 4
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Choose the correctly spelt word from the given option?

(1) Triboluminescence (2) Tribaleminescence
(3) Tribooluminescenca {4) Tribulominescence
Options :

9209067225. 1
9209067226. 2
9209067227. 3
9209067228. 4

Question Number : 7 Question Id : 9209061826 Question Type : MCQ Option Shuffling : No Is
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Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given option?

(1) Triboluminescence (2) Tribaleminescence
(3) Tribooluminescenca {4) Tribulominescence
Options :

9209067225. 1
9209067226. 2
9209067227. 3
9209067228. 4
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Correct Marks : 4 Wrong Marks : 1

Choose the correct option to replace the underlined part into make a grammatically correct
sentence.

Had he realized how close he was to failing, he would not have gone to the party.

(1) It he would have realised how close he was to failing, he would not have gone to the
party.
(2) Had he had realised how close he was to failing, he would not have gone to the party.

(3) When he realized how close he was to failing, he would not have gone to the party.
(4) Had he realised how close he was to failing, he would not have gone to the party.

Options :

9209067229. 1
9209067230. 2
9209067231. 3
9209067232. 4



Question Number : 8 Question Id : 9209061827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option to replace the underlined part into make a grammatically correct
sentence.

Had he realized how close he was to failing, he would not have gone to the party.

(1) If he would have realised how close he was to failing, he would not have gone to the
party.
(2) Had he had realised how close he was to failing, he would not have gone to the party.

(3) When he realized how close he was to failing, he would not have gone to the party.

{(4) Had he realised how close he was to failing, he would not have gone to the party.

Options :

9209067229. 1
9209067230. 2
9209067231. 3
9209067232. 4

Question Number : 8 Question Id : 9209061827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

Choose the correct option to replace the underlined part into make a grammatically correct
sentence.

Had he realized how close he was to failing, he would not have gone to the party.

(1) It he would have realised how close he was to failing, he would not have gone to the
party.
(2) Had he had realised how close he was to failing, he would not have gone to the party.

(3) When he realized how close he was to failing, he would not have gone to the party.

(4) Had he realised how close he was to failing. he would not have gone to the party.

Options :

9209067229. 1
9209067230. 2
9209067231. 3
9209067232. 4
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The belief that one is more important than one really is:

(1) Mascot (2) Megalomania
(3 Mirage (4) Moceasin
Options :

9209067233. 1
9209067234. 2
9209067235. 3
9209067236. 4
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The belief that one is more important than one really is:

(1) Mascot (2) Megalomania
(3 Mirage (4) Moceasin
Options :

9209067233. 1
9209067234. 2
9209067235. 3
9209067236. 4

Question Number : 9 Question Id : 9209061828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The belief that one is more important than one really is:

(1) Mascot {(2) Megalomania
(3) Mirage {(4) Moceasin
Options :

9209067233. 1
9209067234. 2
9209067235. 3
9209067236. 4

Question Number : 10 Question Id : 9209061829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “INTRICACY™ of:

(1) Extricate (2) Cordiality
(3 Simplicity {(4) Distance
Options :

9209067237. 1
9209067238. 2
9209067239. 3
9209067240. 4

Question Number : 10 Question Id : 9209061829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “INTRICACY™ of:

(1) Extricate (2) Cordiality
(3) Simplicity {(4) Distance
Options :

9209067237. 1
9209067238. 2
9209067239. 3
9209067240. 4

Question Number : 10 Question Id : 9209061829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “INTRICACY™ of:

(1) Extricate {2) Cordiality
(3) Simplicity {(4) Distance
Options :

9209067237. 1
9209067238. 2
9209067239. 3
9209067240. 4



Question Number : 11 Question Id : 9209061830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In how many vears will a sum of money deshled itself at 6 %4 % per annum simple intrest?

(1) 8 (2) 16
(3) 20 (4) 5

Options :

9209067241. 1
9209067242. 2
9209067243. 3
9209067244. 4

Question Number : 11 Question Id : 9209061830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In how many vears will a sum of money desbled itself at 6 4 % per annum simple intrest?

(1) 8 2) 16
() 20 (4 B

Options :

9209067241. 1
9209067242. 2
9209067243. 3
9209067244. 4

Question Number : 11 Question Id : 9209061830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In how many yvears will a sum of money desbled itself at 6 4 % per annum simple intrest?

(1) 8 (2) 16
(3) 20 (1) B

Options :

9209067241. 1
9209067242. 2
9209067243. 3
9209067244. 4



Question Number : 12 Question Id : 9209061831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If3cot8=4, the value of then hsin? 0 - cos20 +tan O is

57 47
1 — 2 i
. 100 5. 100

16 9
3 —_ 4 Mt
(3) 55 (4) 55

Options :

9209067245. 1
9209067246. 2
9209067247. 3
9209067248. 4

Question Number : 12 Question Id : 9209061831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If3cotB=4, the value of then h 8in2 0 - eos2 B +tan B is

57 47
1 _ 2 _
W 100 @ 100

16 9
3 — 4 Mhie?
(3) 5¢ (4) 355

Options :

9209067245. 1
9209067246. 2
9209067247. 3
9209067248. 4

Question Number : 12 Question Id : 9209061831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If 3 cot D=4, the value of then h 8in20 - eos20 +tan B is

57 47
1 = |
b 100 @ 100

16 9
3 — iy s
(3) 5¢ (4) 55

Options :

9209067245. 1
9209067246. 2
9209067247. 3
9209067248. 4

Question Number : 13 Question Id : 9209061832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amar sold a ratio for Rs.1100 with 10% profit and a television for Rs.11500 with 15% profit.
His overall profit percentage 1s:

5 7
1y 122% ) 13
(D The & en

, 6 5
@ 145% @ 135%

Options :

9209067249. 1
9209067250. 2
9209067251. 3
9209067252. 4

Question Number : 13 Question Id : 9209061832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amar sold a ratio for Es.1100 with 10% profit and a television for Rs.11500 with 15% profit.
His overall profit percentage is:
5

7

1 12—% 2 13—9%

(1) T o (2) T °
6 5

(3) ]4ﬁ% (4) 13—2%

Options :



9209067249. 1
9209067250. 2
9209067251. 3
9209067252. 4

Question Number : 13 Question Id : 9209061832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Amar sold a ratio for Rs.1100 with 10% profit and a television for Rs.11500 with 15% profit.
His overall profit percentage 1s:

(1) IE%% (2) 131%
6 5

(3 Mﬁ% (4) BE%

Options :

9209067249. 1
9209067250. 2
9209067251. 3
9209067252. 4

Question Number : 14 Question Id : 9209061833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solid metallic hemisphese having radius R is melted and recasted as a cone with the same
base radius R. If H is the height of the cone so formed, then the relation between H and R is:

(1)  H=2R (2) H=%R
(3) H=4BR (4) H=3R

Options :

9209067253. 1
9209067254. 2
9209067255. 3
9209067256. 4

Question Number : 14 Question Id : 9209061833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A solid metallic hemisphese having radius R is melted and recasted as a cone with the same
base radius R. If H is the height of the cone so formed, then the relation between H and R is:

(1) H=2R (2) H=%R
(3) H=43R (1) H=3R

Options :

9209067253. 1
9209067254. 2
9209067255. 3
9209067256. 4

Question Number : 14 Question Id : 9209061833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solid metallic hemisphese having radius R is melted and recasted as a cone with the same
base radius R. If H is the height of the cone so formed, then the relation between H and R is:

(1) H=2R (2) H=%R
(3) H=+3R (4) H=3R

Options :

9209067253. 1
9209067254. 2
9209067255. 3
9209067256. 4

Question Number : 15 Question Id : 9209061834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ten men working 8 hours a day can do a work in 15 days. How many more men need to be
employed to do the same work in 10 days. If everyone works 10 hours per day?

(1) 1 (2)
(3) 3 4 4

]

Options :
9209067257. 1
9209067258. 2



9209067259. 3
9209067260. 4

Question Number : 15 Question Id : 9209061834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ten men working 8 hours a day can do a work in 15 days. How many more men need to be
employed to do the same work in 10 days. If everyone works 10 hours per day?

(1) 1 2y 2
(3) 3 4 4

Options :

9209067257. 1
9209067258. 2
9209067259. 3
9209067260. 4

Question Number : 15 Question Id : 9209061834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ten men working 8 hours a day can do a work in 15 days. How many more men need to be
employed to do the same work in 10 days. If everyone works 10 hours per day?

(1) 1 2y 2
(3) 3 4 4

Options :

9209067257. 1
9209067258. 2
9209067259. 3
9209067260. 4

Question Number : 16 Question Id : 9209061835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pointing to a womwn, sunil said, “She is the daughter of the only child of my grandmother.”
How is the women related to sunil?

(1) Mother-in-law (2) Aunt
(3) Daughter (4) Sister
Options :

9209067261. 1
9209067262. 2
9209067263. 3
9209067264. 4

Question Number : 16 Question Id : 9209061835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to a womwn, sunil said, “She is the daughter of the only child of my grandmother.”
How is the women related to sunil?

(1) Mother-in-law (2) Aunt
(3) Daughter (4) Sister
Options :

9209067261. 1
9209067262. 2
9209067263. 3
9209067264. 4

Question Number : 16 Question Id : 9209061835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to a womwn, sunil said, “She is the daughter of the only child of my grandmother.”
How is the women related to sunil?

(1) Mother-in-law (2) Aunt
(3) Daughter (4) Sister
Options :

9209067261. 1
9209067262. 2
9209067263. 3
9209067264. 4



Question Number : 17 Question Id : 9209061836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain code, MOTHER is written as QDGSNL, then how is TIGER written in that code?

(1) SHFDQ (20 HFDSQ
(3) QDFHS (4) PQRST
Options :

9209067265. 1
9209067266. 2
9209067267. 3
9209067268. 4

Question Number : 17 Question Id : 9209061836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain code, MOTHER is written as QDGSNL, then how is TIGER written in that code?

(1) SHFDQ (2) HFDSQ
(3) QDFHS (4) PQRST
Options :

9209067265. 1
9209067266. 2
9209067267. 3
9209067268. 4

Question Number : 17 Question Id : 9209061836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain code, MOTHER is written as QDGSNL, then how is TIGER written in that code?

(1) SHFDQ (2) HFDSQ
(3) QDFHS (4) PQRST
Options :

9209067265. 1
9209067266. 2



9209067267. 3
9209067268. 4

Question Number : 18 Question Id : 9209061837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The positions of how many digits in the number 6912345 will remain unchanged after
the digits are rearranged in ascending order within the number?

(1) Zero (2) One
(3) Two (4) Three
Options :

9209067269. 1
9209067270. 2
9209067271. 3
9209067272. 4

Question Number : 18 Question Id : 9209061837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The positions of how many digits in the number 6912345 will remain unchanged after
the digits are rearranged in ascending order within the number?

(1) Zero (2) One
(3} Two (4) Three
Options :

9209067269. 1
9209067270. 2
9209067271. 3
9209067272. 4

Question Number : 18 Question Id : 9209061837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The positions of how many digits in the number 6912345 will remain unchanged after
the digits are rearranged in ascending order within the number?

(1) Zero (2) One
(3) Two (1) Three
Options :

9209067269. 1
9209067270. 2
9209067271. 3
9209067272. 4

Question Number : 19 Question Id : 9209061838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Decide which of the arguments is a ‘strong argument’ and which is a ‘weak argument’.

Statement :  Should India support all the international policies of Russia?
Arguments
(1) Yes, This is the only way to gain accers to Russia developmental funds.

(1T) No, Many other powerful countries do not support the same.

In the light of the above statement, choose the correct answer from the options given below :

(1) Only argument I is strong.
(2) Only argument 11 is strong.
(3) Either I or II is strong.

i(4) Neither I or 11 is strong.

Options :

9209067273. 1
9209067274. 2
9209067275. 3
9209067276. 4

Question Number : 19 Question Id : 9209061838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Decide which of the arguments is a ‘strong argument’ and which iz a ‘weak argument’.

Statement :  Should India support all the international policies of Russia?
Arguments
(1) Yes, This is the only way to gain accers to Russia developmental funds.

(1T) MNo, Many other powerful countries do not support the same.

In the light of the above statement, choose the correct answer from the options given below :

(1) Only argument I is strong.
(2) Only argument 11 is strong.
(3 Either I or II is strong.

(1) Neither I or 11 is strong.

Options :

9209067273. 1
9209067274. 2
9209067275. 3
9209067276. 4

Question Number : 19 Question Id : 9209061838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Decide which of the arguments is a "strong argument’ and which is a ‘weak argument’.

Statement :  Should India support all the international policies of Russia?
Arguments
(I) Yes, This is the only way to gain accers to Russia developmental funds.

(1I) No, Many other powerful countries do not support the same,

In the light of the above statement, choose the correct answer from the options given below :

(1) Only argument I is strong.
(2) Only argument I1 is strong.
(3 Either I or I1 is strong.

(4) Neither I or 11 is strong.

Options :

9209067273. 1
9209067274. 2
9209067275. 3
9209067276. 4

Question Number : 20 Question Id : 9209061839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the figure which is different from others

M F  H | D

(a) (b) (c) (d)

(1) (a) 2 (b)
(3 () (4) (d)

Options :

9209067277. 1
9209067278. 2
9209067279. 3
9209067280. 4

Question Number : 20 Question Id : 9209061839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the figure which is different from others

M F  H | D

(a) (b) (c) (d)

(1) (a) 2 (b)
(3 () (4) (d)

Options :

9209067277. 1
9209067278. 2
9209067279. 3
9209067280. 4

Question Number : 20 Question Id : 9209061839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the figure which is different from others

M F  H | D

(a) (b) (c) (d)

(1) (a) (2) (b)
(3 () (4) (d)
Options :

9209067277. 1
9209067278. 2
9209067279. 3
9209067280. 4

Question Number : 21 Question Id : 9209061840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which hydropower plant in bhutan was inaugurated recently by Indian prime minister
Narendra Modi?

(1) Chhukha power plant (2) Daughter power plant
(3) Kurichha power plant (4) Mangdechha power plant
Options :

9209067281. 1
9209067282. 2
9209067283. 3
9209067284. 4

Question Number : 21 Question Id : 9209061840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which hydropower plant in bhutan was inaugurated recently by Indian prime minister
Narendra Modi?

(1) Chhukha power plant (2) Daughter power plant
(3) Kurichha power plant (4) Mangdechha power plant
Options :

9209067281. 1
9209067282. 2
9209067283. 3
9209067284. 4

Question Number : 21 Question Id : 9209061840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which hydropower plant in bhutan was inaugurated recently by Indian prime minister
Narendra Modi?

(1) Chhukha power plant (2) Daughter power plant
(3) Kurichha power plant {(4) Mangdechha power plant
Options :

9209067281. 1
9209067282. 2
9209067283. 3
9209067284. 4

Question Number : 22 Question Id : 9209061841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 1T :

List I List IT
(Term) {Explanation)
(A) Fiseal Deficit (I) E=xess of total expenditure over
total receipts, less borrowing
(B) Budget Deficit (II) E=xess of total expenditure over
total receipts
{(C) Revenue Deficit (III) Exess of revenue expenditure
OVer revence receipts
(D) Primary Deficit (IV) Exess of total expenditure over

total receipts, less borrowings
and interest payment.

Choose the correct answer from the options given below:

(1) (AD). (B)-(I), (C)-(I1I), (D)-(IV)
(2) (A)-(D), (B)-(ID), (C)-(IV), (D)-(I11)
(3)  (A)-(IV), (B)-(III), (C)-(II), (D)-(D)
(4) (A)-(IV), (B)-(IIT), (C)-(I), (D)-(II)

Options :

9209067285. 1
9209067286. 2
9209067287. 3
9209067288. 4

Question Number : 22 Question Id : 9209061841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 1T :

List I List IT
(Term) {Explanation)
(A) Fiseal Deficit (I) E=xess of total expenditure over
total receipts, less borrowing
(B) Budget Deficit (II) E=xess of total expenditure over
total receipts
{(C) Revenue Deficit (III) Exess of revenue expenditure
OVer revence receipts
(D) Primary Deficit (IV) Exess of total expenditure over

total receipts, less borrowings
and interest payment.

Choose the correct answer from the options given below:

(1) (AD). (B)-(I), (C)-(I1I), (D)-(IV)
(2) (A)-(D), (B)-(ID), (C)-(IV), (D)-(I11)
(3)  (A)-(IV), (B)-(III), (C)-(II), (D)-(D)
(4) (A)-(IV), (B)-(IIT), (C)-(I), (D)-(II)

Options :

9209067285. 1
9209067286. 2
9209067287. 3
9209067288. 4

Question Number : 22 Question Id : 9209061841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 1T :

List I List IT
(Term) {Explanation)
(A) Fiseal Deficit (I) E=xess of total expenditure over
total receipts, less borrowing
(B) Budget Deficit (II) E=xess of total expenditure over

total receipts

{(C) Revenue Deficit (III) Exess of revenue expenditure
over revence receipts

(D) Primary Deficit (IV) Exess of total expenditure over
total receipts, less borrowings
and interest payment.

Choose the correct answer from the options given below:

(1) (A)-(D). (B)-(II), (C)-(11T), (D)-(IV)
(2) (A)-(I), (B)-(II), (C)-(IV), (D)-(11I)
(3) (A)-(IV), (B)-(II), (C)-(I1), (D)-(D)
)

(4) (A)-(IV), (B)-(I1I), (C)-(T), (D)-(1I)

Options :

9209067285. 1
9209067286. 2
9209067287. 3
9209067288. 4

Question Number : 23 Question Id : 9209061842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The second round table conference at landen was held in the backdrop of

(1) Emerson-gandhi pact {(2) Hailey-Gandhi pact
(3) Gandhi-Irwin pact (4) Gandhi-Simon pact

Options :

9209067289. 1
9209067290. 2
9209067291. 3
9209067292. 4

Question Number : 23 Question Id : 9209061842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The second round table conference at landen was held in the backdrop of

(1) Emerson-gandhi pact (2) Hailey-Gandhi pact
(3) Gandhi-Irwin pact (4) Gandhi-Simon pact
Options :

9209067289. 1
9209067290. 2
9209067291. 3
9209067292. 4

Question Number : 23 Question Id : 9209061842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The second round table conference at landen was held in the backdrop of

(1) Emerson-gandhi pact {(2) Hailey-Gandhi pact
(3) Gandhi-Irwin pact (4) Gandhi-Simon pact
Options :

9209067289. 1
9209067290. 2
9209067291. 3
9209067292. 4

Question Number : 24 Question Id : 9209061843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Aszertion (A) ; The velocity of sound in air increases due to the presence of moisture in air.

Reasons (R) : The pressure of moisture in air increases the density of air.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) 1s correct but (R) is not correct

(4) (A) 15 not correct but (B) is correct

Options :

9209067293. 1
9209067294. 2
9209067295. 3
9209067296. 4

Question Number : 24 Question Id : 9209061843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) ; The velocity of sound in air increases due to the presence of moisture in air.

Reasons (R) : The pressure of moisture in air increases the density of air.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3 (A) is correct but (BE) is not correct

{4) (A) is not correct but (R) is correct

Options :



9209067293. 1
9209067294. 2
9209067295. 3
9209067296. 4

Question Number : 24 Question Id : 9209061843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reaszon (R).

Assertion (A) : The velocity of sound in air increases due to the presence of moisture in air.

Reasons (R} : The pressure of moisture in air increases the density of air.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (BE) is not correct

{4) (A) is not correct but (R) is correct

Options :

9209067293. 1
9209067294. 2
9209067295. 3
9209067296. 4

Question Number : 25 Question Id : 9209061844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements ;

Statement [ :  The constitution of India is a liberal Constitution.

Statement [T : It provides fundamental rights to individual.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement [ and Statement 11 are true
(2) Both Statement I and Statement I are false
(3) Statement [ is true but Statement I1 is falze
(4) Statement [ is falze but Statement 11 is true

Options :

9209067297. 1

9209067298. 2

9209067299. 3
9209067300. 4

Question Number : 25 Question Id : 9209061844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements ;

Statement [ :  The constitution of India is a liberal Constitution.

Statement 11 : It provides fundamental rights to individual.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement [ and Statement 11 are true
(2) Both Statement I and Statement 11 are false
(3) Statement I is true but Statement 11 is false
i(4) Statement I is false but Statement II is true

Options :



9209067297. 1
9209067298. 2
9209067299. 3
9209067300. 4

Question Number : 25 Question Id : 9209061844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(Given below are two statements ;
Statement I :  The constitution of India is a liberal Constitution.

Statement [1 : It provides fundamental rights to individual.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement 11 are true

(2) Both Statement I and Statement 11 are false

(3) Statement I is true but Statement 11 is false

(4) Statement I is false but Statement II is true
Options :

9209067297. 1
9209067298. 2
9209067299. 3
9209067300. 4

Part B: Jain Darshan

Section Id : 92090638
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0



Sub-Section Number : 1

Sub-Section Id : 92090657
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 9209061845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UIHTERRES Hid 3REo Bf= 7

(1) 5 (2) 356
(3) 58 (1) 28

Options :

9209067301. 1
9209067302. 2
9209067303. 3
9209067304. 4

Question Number : 26 Question Id : 9209061845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UHIRRAEE Fid 3Ree wf= 7

(1) 5 (2) 35
(3 58 (4) 28

Options :

9209067301. 1
9209067302. 2
9209067303. 3
9209067304. 4

Question Number : 26 Question Id : 9209061845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UHERRES Hid i afa

1y 5 (2) 35
(3 58 (4) 28

Options :



9209067301. 1
9209067302. 2
9209067303. 3
9209067304. 4

Question Number : 27 Question Id : 9209061846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EECHEENT LT £k

(1) 04 (2) 07
i3] 09 4y 11

Options :

9209067305. 1
9209067306. 2
9209067307. 3
9209067308. 4

Question Number : 27 Question Id : 9209061846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g i o w7

(1 04 (2) 07
(3 09 (| 1

Options :

9209067305. 1
9209067306. 2
9209067307. 3
9209067308. 4

Question Number : 27 Question Id : 9209061846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SAgYH i o |7
(1) 04 (2) 07
(3] E] 4y 11

Options :
9209067305. 1



9209067306. 2
9209067307. 3
9209067308. 4

Question Number : 28 Question Id : 9209061847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(1) 20 2) 25
(3 24 (4y 18

Options :

9209067309. 1
9209067310. 2
9209067311. 3
9209067312. 4

Question Number : 28 Question Id : 9209061847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(1 20 (2) 25
(1] 24 (4) 18

Options :

9209067309. 1
9209067310. 2
9209067311. 3
9209067312. 4

Question Number : 28 Question Id : 9209061847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(1 20 (2) 25
(1] 24 (4) 18
Options :

9209067309. 1
9209067310. 2



9209067311. 3
9209067312. 4

Question Number : 29 Question Id : 9209061848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aauHETe faggeE Hfa drden: ad=7
(1) 108 (2) 20
(3) 24 (4) 170

Options :

9209067313. 1
9209067314. 2
9209067315. 3
9209067316. 4

Question Number : 29 Question Id : 9209061848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FoaAE HggeE Hfa ddwn: ad=17
(1) 108 (2) 20
(3) 24 (4) 170

Options :

9209067313. 1
9209067314. 2
9209067315. 3
9209067316. 4

Question Number : 29 Question Id : 9209061848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FoAFH faeges g didsn: 397
(1) 108 (2) 20
(:3) 24 (4) 170

Options :

9209067313. 1
9209067314. 2
9209067315. 3



9209067316. 4

Question Number : 30 Question Id : 9209061849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHEEH Al FE: e 7
(1) a (2) 9
(3) 16 @ 7
Options :
9209067317. 1
9209067318. 2

9209067319. 3
9209067320. 4

Question Number : 30 Question Id : 9209061849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRS A = A7
(1) 3 2y 9
(3) 16 4y 7
Options :
9209067317. 1
9209067318. 2

9209067319. 3
9209067320. 4

Question Number : 30 Question Id : 9209061849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EECHER IR R iCan B it
(1) ] () 9
(3) 16 4 7
Options :
9209067317. 1
9209067318. 2

9209067319. 3
9209067320. 4



Question Number : 31 Question Id : 9209061850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HrHET=E HegHar: WAt 7

(2) 47

T
7 4y 28

(3)
Options :
9209067321. 1
9209067322. 2
9209067323. 3
9209067324. 4

Question Number : 31 Question Id : 9209061850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ATHTaE WEde: "ai 7

(2) 47

T
7 (4) 28

(3 a3
Options :
9209067321. 1
9209067322. 2
9209067323. 3
9209067324. 4

Question Number : 31 Question Id : 9209061850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTHT A= HeEWHan: daid 7

(Z) 47

T
T (4) 28

(3 o
Options :
9209067321. 1
9209067322. 2
9209067323. 3
9209067324. 4

Question Number : 32 Question Id : 9209061851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

fostoran: warmrem e

(1) a9: () THAH
(3) =EEq (9 frm:
Options :

9209067325. 1
9209067326. 2
9209067327. 3
9209067328. 4

Question Number : 32 Question Id : 9209061851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fostoran: warmrem e

(1) a9: () THAH
(3) =EEq (9 frm:
Options :

9209067325. 1
9209067326. 2
9209067327. 3
9209067328. 4

Question Number : 32 Question Id : 9209061851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fostoran: warmrem e

(1) a9: () THAH
(3) =EEq (9 frm:
Options :

9209067325. 1
9209067326. 2
9209067327. 3
9209067328. 4

Question Number : 33 Question Id : 9209061852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
SHEIATRTY Sffaw i Jrm: F: 7

(1) 12 (2) 14
(1) 16 (4 10
Options :
9209067329. 1
9209067330. 2
9209067331. 3
9209067332. 4

Question Number : 33 Question Id : 9209061852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SAEEATET S i W Ff: 7

(1) 12 (2) 14
(1) 16 (4) 10
Options :
9209067329. 1
9209067330. 2
9209067331. 3
9209067332. 4

Question Number : 33 Question Id : 9209061852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SAEEATIET Sffaw Hf wom: afif: 7

(1) 12 (2) 14
(1) 16 (4) 10
Options :
9209067329. 1
9209067330. 2
9209067331. 3
9209067332. 4

Question Number : 34 Question Id : 9209061853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e sterfaumTesReEa: ?

(1) HaEa: (2) =ggAa:
(3)  TIIEAE: (4) TTEAE:
Options :

9209067333. 1
9209067334. 2
9209067335. 3
9209067336. 4

Question Number : 34 Question Id : 9209061853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T serfasmresRTE=: ?

(1) HatEdE: (2) =Eggdq:
(3)  TE: (4) TEAE:
Options :

9209067333. 1
9209067334. 2
9209067335. 3
9209067336. 4

Question Number : 34 Question Id : 9209061853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T serfasmresRTE=: ?

(1) HatEdE: (2) =Eggdq:
(3)  TE: (4) TEAE:
Options :

9209067333. 1
9209067334. 2
9209067335. 3
9209067336. 4

Question Number : 35 Question Id : 9209061854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oty Sa= e

(1) *=da=q (2) WA=y
(3) Ty (4) FrEwiE=m
Options :

9209067337. 1
9209067338. 2
9209067339. 3
9209067340. 4

Question Number : 35 Question Id : 9209061854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
srrafiraTeaTEn: s fFfa e

(1) o=y (2) WA=y
(%) I BE T (4) FrEmiE=m
Options :

9209067337. 1
9209067338. 2
9209067339. 3
9209067340. 4

Question Number : 35 Question Id : 9209061854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
sitgerfiaTemaEn: s e

(1) *=a=mq (2) WAEH
(3 I BE T (4) Fremiam=m
Options :

9209067337. 1
9209067338. 2
9209067339. 3
9209067340. 4

Question Number : 36 Question Id : 9209061855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“fEamfR’ - 3 9 wEE Ye: F99 7

(1)  ydsEe (2) HAHETRE
(3) iz (4) YA
Options :

9209067341. 1
9209067342. 2
9209067343. 3
9209067344. 4

Question Number : 36 Question Id : 9209061855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“fEmafz - s vm arE e T99

(1) o= (2) FAHAE
(3) UzeEm= (4) IEFAARE
Options :

9209067341. 1
9209067342. 2
9209067343. 3
9209067344. 4

Question Number : 36 Question Id : 9209061855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“feemfE - 3 F w9 a9

(1) o= (2)
(3) lz== (4) YEFAAEE
Options :

9209067341. 1
9209067342. 2
9209067343. 3
9209067344. 4

Question Number : 37 Question Id : 9209061856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



THeIaTTE 7. yata?

(1)  wEE (2) T
(3) AT (4) wHuEE:
Options :

9209067345. 1
9209067346. 2
9209067347. 3
9209067348. 4

Question Number : 37 Question Id : 9209061856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEHoqHEATE 4. wafa?

(1) wEgEa: (2) TAHEAE:
(3)  ATE: (1) wHOEE:
Options :

9209067345. 1
9209067346. 2
9209067347. 3
9209067348. 4

Question Number : 37 Question Id : 9209061856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeeHTETE] 4. Hafa

(1) T (2) AL
(3  FmE: (4) wuEE:
Options :

9209067345. 1
9209067346. 2
9209067347. 3
9209067348. 4

Question Number : 38 Question Id : 9209061857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=TT A i 7

(1) = (2) A FAaFE
() g T FawEe (4) TAEIEA
Options :

9209067349. 1
9209067350. 2
9209067351. 3
9209067352. 4

Question Number : 38 Question Id : 9209061857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT AW HiE 7

(1) = (2) TR A
(3) =g T FHawwe (1) THETES
Options :

9209067349. 1
9209067350. 2
9209067351. 3
9209067352. 4

Question Number : 38 Question Id : 9209061857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T AW i 7

(1)  wefE (2) TR sEwe
() g e Hawhe (1) TEIEA
Options :

9209067349. 1
9209067350. 2
9209067351. 3
9209067352. 4

Question Number : 39 Question Id : 9209061858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FEHE Vel 'ty
(1) 2 2y 5
(3 8 4 4

Options :

9209067353. 1
9209067354. 2
9209067355. 3
9209067356. 4

Question Number : 39 Question Id : 9209061858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
O el J 7

(1) 2 (2) 5
(3) 8 4 4

Options :

9209067353. 1
9209067354. 2
9209067355. 3
9209067356. 4

Question Number : 39 Question Id : 9209061858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I el g

(1) 2 (2) b5
(3) 8 (4 4

Options :

9209067353. 1
9209067354. 2
9209067355. 3
9209067356. 4

Question Number : 40 Question Id : 9209061859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



JaudTdH: 944 ¢

(1) AHTA: (2) A=
(3) = (4) ToTE:
Options :

9209067357. 1
9209067358. 2
9209067359. 3
9209067360. 4

Question Number : 40 Question Id : 9209061859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT g 7

(1) AT (2) A=
(3 =T (4) goHE:
Options :

9209067357. 1
9209067358. 2
9209067359. 3
9209067360. 4

Question Number : 40 Question Id : 9209061859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Jawd T qed 7

(1) T (2) HA=H:
(3 = (4) qoHE:
Options :

9209067357. 1
9209067358. 2
9209067359. 3
9209067360. 4

Question Number : 41 Question Id : 9209061860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HUEAH] Hel: A7
)y o (2) 4
@) 3 (4) 13

Options :

9209067361. 1
9209067362. 2
9209067363. 3
9209067364. 4

Question Number : 41 Question Id : 9209061860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HUEAH] Hel: A7
(1) 5 (2) 4
i3 4 (4) 13

Options :

9209067361. 1
9209067362. 2
9209067363. 3
9209067364. 4

Question Number : 41 Question Id : 9209061860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HOEAH] Hel: A7
(1) 3 (2) 4
(3) 4 (4) 13

Options :

9209067361. 1
9209067362. 2
9209067363. 3
9209067364. 4

Question Number : 42 Question Id : 9209061861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EFAEGIMEEH :ﬂﬁf‘”

(1) o= (2) gaEa:
(3) HHIT: (4) HANTE:
Options :

9209067365. 1
9209067366. 2
9209067367. 3
9209067368. 4

Question Number : 42 Question Id : 9209061861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WETHATIES: Al 7

(1) o= (2) FaEdT:
(3)  =EW: (4) AT
Options :

9209067365. 1
9209067366. 2
9209067367. 3
9209067368. 4

Question Number : 42 Question Id : 9209061861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WETHATIES: A ?

(1) Hdh: (2) @ﬁ?ﬁ:
(3 = (4) HARIEE:
Options :

9209067365. 1
9209067366. 2
9209067367. 3
9209067368. 4

Question Number : 43 Question Id : 9209061862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IMeAERETEE: T wata v

(1) a6 (2) 25
(3 28 (4) 46

Options :

9209067369. 1
9209067370. 2
9209067371. 3
9209067372. 4

Question Number : 43 Question Id : 9209061862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
INMAEEATE: T wafa 7

(1) 6 (2Z) 25
(3) 28 (4) 46

Options :

9209067369. 1
9209067370. 2
9209067371. 3
9209067372. 4

Question Number : 43 Question Id : 9209061862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IMAEEATE: T wafa 7

() 36 (2) 25
(3) 28 (4) 46

Options :

9209067369. 1
9209067370. 2
9209067371. 3
9209067372. 4

Question Number : 44 Question Id : 9209061863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o

ATEEIZETE: OISR 37 3 7

(1) HEEATeHs: (2) fareamiEd
(3)  TEEin (4) =ghitgEd
Options :

9209067373. 1
9209067374. 2
9209067375. 3
9209067376. 4

Question Number : 44 Question Id : 9209061863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ATIEIZETE: TSRSy 3 A

(1)  HOEEATeS: (2) fareAmiaEd
(3)  TEERn (4) FghitgEd
Options :

9209067373. 1
9209067374. 2
9209067375. 3
9209067376. 4

Question Number : 44 Question Id : 9209061863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ATETEZETE: TR 3 W

(1)  HEATAS: (2) fareatiaEd
(3)  TEgERn (4) =hfgEd
Options :

9209067373. 1
9209067374. 2
9209067375. 3
9209067376. 4

Question Number : 45 Question Id : 9209061864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tifigeen 3 Frai

(1)  WEENEE: (2) FnferamEa:
(3)  TEEE: (4) =TS
Options :

9209067377. 1
9209067378. 2
9209067379. 3
9209067380. 4

Question Number : 45 Question Id : 9209061864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TrfiEriEE & FaEm T

(1) TWEERREY: (2) snfeTaTEa:
(3)  TEEE: (4) =TS
Options :

9209067377. 1
9209067378. 2
9209067379. 3
9209067380. 4

Question Number : 45 Question Id : 9209061864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TrfiEriEE & FaEm T

(1) TWEERREY: (2) snfeTaTEa:
(3)  TEEE: (4) =TS
Options :

9209067377. 1
9209067378. 2
9209067379. 3
9209067380. 4

Question Number : 46 Question Id : 9209061865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS aHEESE oiEs: a0d

(1)  H=HE: JE=9g: (2) HEHE: FYTEE:
(3) = T (4) e Tl
Options :

9209067381. 1
9209067382. 2
9209067383. 3
9209067384. 4

Question Number : 46 Question Id : 9209061865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS EHEESE oiEgs: a0d

(1)  T=H: JeWg: (2) A= FYTEE:
(3)  ¥TEHE TR (4) I gl
Options :

9209067381. 1
9209067382. 2
9209067383. 3
9209067384. 4

Question Number : 46 Question Id : 9209061865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS EHEESE o s: 90d

(1)  HA=HE: JE: (2) HAEHE: FYTEE:
(3) 3= g (4) = T
Options :

9209067381. 1
9209067382. 2
9209067383. 3
9209067384. 4

Question Number : 47 Question Id : 9209061866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 (2) 4
(:3) 5 (4) 6

Options :

9209067385. 1
9209067386. 2
9209067387. 3
9209067388. 4

Question Number : 47 Question Id : 9209061866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ey i #h de 5=

(1) 2 (2) 4
(3) 5 4 6

Options :

9209067385. 1
9209067386. 2
9209067387. 3
9209067388. 4

Question Number : 47 Question Id : 9209061866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SEAETY AEETafee Hia de: g5

2
(:3) 5 (4) 6

Options :

9209067385. 1
9209067386. 2
9209067387. 3
9209067388. 4

Question Number : 48 Question Id : 9209061867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A AT =i 9694 7

(1)  H=EE: TR (2) HTEHE: SFEAECE:
(3  wEdE: (4) =EE: g
Options :

9209067389. 1
9209067390. 2
9209067391. 3
9209067392. 4

Question Number : 48 Question Id : 9209061867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T =i =604 7

(1)  H=EE: TR (2) HTEHE: SFEAECE:

(3  wEdE: (4) =EE: g
Options :

9209067389. 1
9209067390. 2
9209067391. 3
9209067392. 4

Question Number : 48 Question Id : 9209061867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T =i =604 7

(1)  H=EE: TR (2) HTEHE: SFEAECE:

(3  wEdE: (4) =EE: g
Options :

9209067389. 1
9209067390. 2
9209067391. 3
9209067392. 4

Question Number : 49 Question Id : 9209061868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T TEEE Hisd: 7

(1)  3MEg (2) =g
(3) A (1) wufaq
Options :

9209067393. 1
9209067394. 2
9209067395. 3
9209067396. 4

Question Number : 49 Question Id : 9209061868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T TeeE Hisd: 7

() g (2) =
(3) HEE (4) wufEq
Options :

9209067393. 1
9209067394. 2
9209067395. 3
9209067396. 4

Question Number : 49 Question Id : 9209061868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BT e Hisy: 7

(1)  3MEg (2) =g
(3) A (1) wufaq
Options :

9209067393. 1
9209067394. 2
9209067395. 3
9209067396. 4

Question Number : 50 Question Id : 9209061869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IO E5EA Jod 7
(1) 11 (Z) 14
(3 12 (4) 16

Options :

9209067397. 1
9209067398. 2
9209067399. 3
9209067400. 4

Question Number : 50 Question Id : 9209061869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR S g6 ¢
(1) 11 (Z) 14
(3 12 (4) 16

Options :

9209067397. 1
9209067398. 2
9209067399. 3
9209067400. 4

Question Number : 50 Question Id : 9209061869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR S a6 7
(1) 11 (2) 14
(3) 12 (4) 16

Options :

9209067397. 1
9209067398. 2
9209067399. 3
9209067400. 4

Question Number : 51 Question Id : 9209061870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FE] Wen: "7

(1 12 (Z) 11

(3) 14 4) 2

Options :

9209067401. 1
9209067402. 2
9209067403. 3
9209067404. 4

Question Number : 51 Question Id : 9209061870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST WET: ' 7

(1 12 (Z) 11

(3) 14 4 2

Options :

9209067401. 1
9209067402. 2
9209067403. 3
9209067404. 4

Question Number : 51 Question Id : 9209061870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Wel: |7

(1 12 (2) 11

(3) 14 4 2

Options :

9209067401. 1
9209067402. 2
9209067403. 3
9209067404. 4

Question Number : 52 Question Id : 9209061871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

(1)  wwTER (2) T
(3)  sAeHTH (4) wERTH
Options :

9209067405. 1
9209067406. 2
9209067407. 3
9209067408. 4

Question Number : 52 Question Id : 9209061871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) ] (2) S
(3) AT (4) HERTH
Options :

9209067405. 1
9209067406. 2
9209067407. 3
9209067408. 4

Question Number : 52 Question Id : 9209061871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  =AwmHEl (2) wEAT
(3 AT (4) HEWTE
Options :

9209067405. 1
9209067406. 2
9209067407. 3
9209067408. 4



Question Number : 53 Question Id : 9209061872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT AL T==al 4 -

(1)  ofved saHTEm: (2) ufvza Freme:
@)  wEE - sEEs g (4) ufvgd T
Options :

9209067409. 1
9209067410. 2
9209067411. 3
9209067412. 4

Question Number : 53 Question Id : 9209061872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT A T Tafaa add -

(1)  gfvsd sanHEEE: (2) ufved Zreme:
(3) HEE - gEEs i (4) wfvga AT
Options :

9209067409. 1
9209067410. 2
9209067411. 3
9209067412. 4

Question Number : 53 Question Id : 9209061872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT AL T==al 4 -

(1)  ofved saHTEm: (2) ufvza Freme:
@)  wEE - sEEs g (4) ufvgd T
Options :

9209067409. 1
9209067410. 2
9209067411. 3
9209067412. 4



Question Number : 54 Question Id : 9209061873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) wEE: Foge (2) =M gt FAREEE:
(3) o= YT (4) HEH: TG
Options :

9209067413. 1
9209067414. 2
9209067415. 3
9209067416. 4

Question Number : 54 Question Id : 9209061873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) wEE: Foge (2) =M gt FAREEE:
(3) o= YT (4) HEH: TG
Options :

9209067413. 1
9209067414. 2
9209067415. 3
9209067416. 4

Question Number : 54 Question Id : 9209061873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) wEE: Foge (2) =M gt FAREEE:
(3) o= YT (4) HEH: TG
Options :

9209067413. 1
9209067414. 2



9209067415. 3
9209067416. 4

Question Number : 55 Question Id : 9209061874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HERESE T A 7
1 2 (2) 4

@ 6 4 8

Options :

9209067417. 1
9209067418. 2
9209067419. 3
9209067420. 4

Question Number : 55 Question Id : 9209061874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HETEYE M A
1n 2 (2) 4
(3 6 4) 8
Options :
9209067417. 1
9209067418. 2

9209067419. 3
9209067420. 4

Question Number : 55 Question Id : 9209061874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R S A
(1 2 (2) 4
(:3) 6 (4 =

Options :
9209067417. 1



9209067418. 2
9209067419. 3
9209067420. 4

Question Number : 56 Question Id : 9209061875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) 7 (2) 4
(3 3 49 8

Options :

9209067421. 1
9209067422. 2
9209067423. 3
9209067424. 4

Question Number : 56 Question Id : 9209061875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) T (2) 4
(3) 5 {4 8

Options :

9209067421. 1
9209067422. 2
9209067423. 3
9209067424. 4

Question Number : 56 Question Id : 9209061875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1 7 (2) 4
3 & (4) 8

Options :



9209067421. 1
9209067422. 2
9209067423. 3
9209067424. 4

Question Number : 57 Question Id : 9209061876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e T F=ETH —

(1)  FAnfefHua: (2) SeEEA

(3)  diedea: (4) TR
Options :

9209067425. 1
9209067426. 2
9209067427. 3
9209067428. 4

Question Number : 57 Question Id : 9209061876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HAEEH A T -

(1) s (2) oA
(3)  dideFa: (4) wEF:
Options :

9209067425. 1
9209067426. 2
9209067427. 3
9209067428. 4

Question Number : 57 Question Id : 9209061876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1) FfEA: (2) s9EEA
(3)  dideFa: (4) wEE:
Options :

9209067425. 1
9209067426. 2
9209067427. 3
9209067428. 4

Question Number : 58 Question Id : 9209061877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHUFA WH: A ¢
(1 8 (2) 92
(3 148 (4 28

Options :

9209067429. 1
9209067430. 2
9209067431. 3
9209067432. 4

Question Number : 58 Question Id : 9209061877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHUFA WH: A ¢
(1 8 (2) 92
(3 148 (4 28

Options :

9209067429. 1
9209067430. 2
9209067431. 3
9209067432. 4

Question Number : 58 Question Id : 9209061877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FUGFAA TH: A 7
(1 8 (2) 92
(3 148 (4) 28

Options :

9209067429. 1
9209067430. 2
9209067431. 3
9209067432. 4

Question Number : 59 Question Id : 9209061878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) FEe: (2) e
(3)  =fesE=: (4) FE:
Options :

9209067433. 1
9209067434. 2
9209067435. 3
9209067436. 4

Question Number : 59 Question Id : 9209061878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1) e (2) =fe:
(3)  wEfedE: (4) =
Options :

9209067433. 1
9209067434. 2
9209067435. 3
9209067436. 4

Question Number : 59 Question Id : 9209061878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1) e (2) =fE:
(3)  wfesT: (4) I
Options :

9209067433. 1
9209067434. 2
9209067435. 3
9209067436. 4

Question Number : 60 Question Id : 9209061879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g wrame ' ¥fa F whamiea 2

(1) =g (2) wiamE
(3) i (4) waEdfag
Options :

9209067437. 1
9209067438. 2
9209067439. 3
9209067440. 4

Question Number : 60 Question Id : 9209061879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“farerg wraey sfa F= wfamfer 7

(1) =g (2) wiamE
(3)  —EdfrEEm (4) waEdfEg
Options :

9209067437. 1
9209067438. 2
9209067439. 3
9209067440. 4

Question Number : 60 Question Id : 9209061879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“foorg wewem' sfa 3 wfamfeay 7

(1) =g (2) wiEmE
(3) S (4) waEidfigg
Options :

9209067437. 1
9209067438. 2
9209067439. 3
9209067440. 4

Question Number : 61 Question Id : 9209061880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AETR Hid T |f=?

(1)  HEETEEd (18000) (2) wEFEAEEE (36000)
(3) fawfeasm (20000) (4) v=EfewioEEE (25000)
Options :

9209067441. 1
9209067442. 2
9209067443. 3
9209067444. 4

Question Number : 61 Question Id : 9209061880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AENF =Hfq wg1H |7

(1)  EETEEE (18000) (2) wEHTEEE" (36000)
(3) Tawfemsm (20000) (4) v=fEwioEEE (25000)
Options :

9209067441. 1
9209067442. 2
9209067443. 3
9209067444. 4

Question Number : 61 Question Id : 9209061880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HEWT Hfd 151 "= 7

(1) HEETHEEE (18000) (2) wEmEEE" (36000)
(3) fawfamsm (20000) (4) vaEfanfaEss  (25000)
Options :

9209067441. 1
9209067442. 2
9209067443. 3
9209067444. 4

Question Number : 62 Question Id : 9209061881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AEHHAAEE T4 T4 7

(1)  3eadien (2)  FATHHETHETD
(3) W (4) foamrerEEY
Options :

9209067445. 1
9209067446. 2
9209067447. 3
9209067448. 4

Question Number : 62 Question Id : 9209061881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AEHHAAEE T4 Fdd 7

(1)  Fgdien (2) SATHHEE
(3) TR (4) faamrEmE=EY
Options :

9209067445. 1
9209067446. 2
9209067447. 3
9209067448. 4

Question Number : 62 Question Id : 9209061881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A5 T J6d 7

(1)  wragdiE (2)  ATEEETE
(3)  wHEEE (4) fommEREEg
Options :

9209067445. 1
9209067446. 2
9209067447. 3
9209067448. 4

Question Number : 63 Question Id : 9209061882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y T R UeEn SAd

(1) e (2) W=
(3) T (4) F==
Options :

9209067449. 1
9209067450. 2
9209067451. 3
9209067452. 4

Question Number : 63 Question Id : 9209061882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

VA R e Hel add ¢

(1)  deee (2) wAfETwE=
(3) AEEE (4) z==
Options :

9209067449. 1
9209067450. 2
9209067451. 3
9209067452. 4

Question Number : 63 Question Id : 9209061882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“HUE: TR w5 Ye a9 7

(1) dJerede (2) wAfewE=
(3) wHEE= (4) z==
Options :

9209067449. 1
9209067450. 2
9209067451. 3
9209067452. 4

Question Number : 64 Question Id : 9209061883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHHH- AFE T iTer AfdaHepere: a0d 7

(1)  FOded: (2) =rfirma:
(3) HA: (4) FAATE:
Options :

9209067453. 1
9209067454. 2
9209067455. 3
9209067456. 4

Question Number : 64 Question Id : 9209061883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FAWH- SRR A F0qd 7

(1)  Fa9ea: (2) fama:
(3) LG (4) A
Options :

9209067453. 1
9209067454. 2
9209067455. 3
9209067456. 4

Question Number : 64 Question Id : 9209061883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1) w9 (2) AfiEE
(3) LLGE (4) A=Y
Options :

9209067453. 1
9209067454. 2
9209067455. 3
9209067456. 4

Question Number : 65 Question Id : 9209061884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gAY Sfae i gt w9 g6

(n 17 (2) 19
(3 3 (4) 24

Options :

9209067457. 1
9209067458. 2
9209067459. 3
9209067460. 4

Question Number : 65 Question Id : 9209061884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ARy Sfiae Hia afonfies s ad- 7

(1) 17 (Z) 19
(3 J 4 24

Options :

9209067457. 1
9209067458. 2
9209067459. 3
9209067460. 4

Question Number : 65 Question Id : 9209061884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT SfE wia mfonfr aEn =61 7

(1) 17 (2) 19
(H 3 4) 24
Options :
9209067457. 1
9209067458. 2

9209067459. 3
9209067460. 4

Question Number : 66 Question Id : 9209061885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 HYTgY ddd -
HYTH (A) : TG TG |

HYTH (R) : TheeiTIE TG =i |

e Ygd iddr A fod -
1. Y (A) AU HYH (R) 34D GH 310 9 (R) 3fd Dy (A) Sy=80 AT
a3 |

2. HYIgUHN Hd W F (R) 3fd FY (A) FYT FHIEHT RS AR |
3. (A) UdH U (R) 3|
4. (A) HIH U (R) TH|

Options :

9209067461. 1
9209067462. 2
9209067463. 3
9209067464. 4

Question Number : 66 Question Id : 9209061885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



33 HYTgY ddd —
FYTH (A) : FENdAgH Fe=EE |
PYAH (R) : FshesigEh Fee=1iE i |

e ygd Uidar AT fod -
1. BYH(A) AU HYF (R) 39 I4H 310 T (R) 3fd FU (A) FYT= HIHAT
RS S|

2. HYTgUAN GG W F (R) 3fd FYF (A) FYT FHIEHT SRS 1R |

3. (A) 9@ R (R) 3HAH|
4. (A) 3HUH R (R) G|

Options :

9209067461. 1
9209067462. 2
9209067463. 3
9209067464. 4

Question Number : 66 Question Id : 9209061885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
313 HY-IgY ddd —
HYTH (A) : TENGFSH TG |
HYTH (R) : Fed g g W |

Ueddy-Tgd ufdar g fRgd -
1. &Y (A) U HYH (R) I9d 94H 310 9 (R) 3fd U (A) Ty FHIHAT
SR e |

2.  HYAGUAN 9 W 9 (R) 310 T (A) HUAT FHIEAT S8 AT |
3. (A) HOH U3 (R) A
4. (A) T IR (R) IIH|

Options :

9209067461. 1
9209067462. 2
9209067463. 3



9209067464. 4

Question Number : 67 Question Id : 9209061886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
33 HY-IgY ddd —
PYAH (A) : FEEIIRH T 4 |
HYFH (R) : Fe9: AGEZ=GHAH T |

Ueddu-gd ufddar g fRgd -
1. &Y (A) U HYH (R) I9d 94H 310 9 (R) 3fd U (A) Ty HIHAT
a3

2.  HYAGUAN 9 W 9 (R) 31 FYUA (A) FUA FHIEAT S8 AT |
3. (A) HOH U3 (R) ETH|
4. (A) AT R (R) IIH|

Options :

9209067465. 1
9209067466. 2
9209067467. 3
9209067468. 4

Question Number : 67 Question Id : 9209061886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



33 HY-Tgd ddd —
HYAH (A) : FireemorRaT FE = |
HYT (R) : 599 swdzeamaray i |

e ygd idar AT fod -
1. BYH(A) U HYF (R) I9d I4H 310 T (R) 3fd FU (A) FUT= HIHHAT
RS S|

2. HYTEUAN GG W F (R) 3fd FYUF (A) FYT FHIEHT SRS 1R |

3. (A) HIH U (R) SiHOH]|
4. (A) HIH U (R) HUH|I

Options :

9209067465. 1
9209067466. 2
9209067467. 3
9209067468. 4

Question Number : 67 Question Id : 9209061886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
33 HY-IEY ddd —
FHYAH (A) : TR FET = |
HYFH (R) : T FEEz=EREEH T

e y-Tgd ufdar g fRrgd -
1. Y (A) U HYH (R) 39 94H 310 9 (R) 3fd U (A) FYT= HIHHAT
AR 3% |

2. HYIGUHAN GG W F (R) 3fd FYUA (A) FUTR FHIET SRS AR |

3. (A) ¥ R (R) 3HAH|
4. (A) HUH R (R) G|

Options :

9209067465. 1
9209067466. 2
9209067467. 3
9209067468. 4



Question Number : 68 Question Id : 9209061887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

33 HYFg add —

BYTH (A) : weEEaia: Faffeas: SumemEe i |
DYAH (R) : FEAHEER-HEIHA THRaEaH S Fall
e ygd ufdar TrTem f&ed -

1. &Y (A) AU HYH (R) IHT TIH 310 T (R) 3fd U (A) Hya8g FHIHAT
AT 3|

2.  HYAGUAN 9 W 9 (R) 3fd FYUA (A) FYA THIEAT S0 A1 |
3. (A) UGH U (R) SRIH]|

4. (A) HIH U (R) HHHI

Options :

9209067469. 1
9209067470. 2
9209067471. 3
9209067472. 4

Question Number : 68 Question Id : 9209061887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 HYE dcld —

DYAH (A) : FEErEETE: FamfiEs: SeEeEde s |
DHYTH (R) : FERHaER-HEH TEHaEaH w91 Fail
e ygd fdar yrTe fFd -

1. Y (A) AU HYH (R) IHT IIH 310 T (R) 3fd Hu (A) HyT8g FHIHAT
AT 3% |

2.  HYAGUA 9 W 9 (R) 3fd FYA (A) FY FHEHT saredT A1 |
3. (A) UgH U3 (R) SRIAH|

4. (A) HHIH U (R) HHHI



Options :

9209067469. 1
9209067470. 2
9209067471. 3
9209067472. 4

Question Number : 68 Question Id : 9209061887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
37 HYTgd ddd —

PYTH (A) : TarErEie: Fafis: SremeEes e |
DHYAH (R) : wEHHEER-HEIE THHEEaH T Fai|
e ygd fdar TrTe fTd -

1. Y (A) AU HYF (R) 39 IIH 310 9 (R) 3fd U (A) FUTR FHIFHAT
RE S|

2. HYTEOHAN G0 W F (R) 3d FUF (A) FUTR] FHIET ARSI 1R |
3. (A) OH U3 (R) 3HTH|

4. (A) SHUH U] (R) TH|I

Options :

9209067469. 1
9209067470. 2
9209067471. 3
9209067472. 4

Question Number : 69 Question Id : 9209061888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 HYgd dald —

DY (A) : =TT T = 3= w6
HYTH (R) : =rarEan SHvREETEvH a8 |

e yagd Ufddr yrry foad -

1. &Y (A) U HYH (R) 34T G4 310 9 (R) 3fd Hu- (A) HY8 AT
ARAT |

2. HYFAgIHAN Hd W 9 (R) 3fd FY (A) FYTE FHIEHT RS 1R |
3. (A) UdH U (R) 3H|

4. (A) HIH U (R) HUH|I

Options :

9209067473. 1
9209067474. 2
9209067475. 3
9209067476. 4

Question Number : 69 Question Id : 9209061888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 HY-IgY ddd —

BYTH (A) : ~mamadrera= wa A=H: 3w |

DYAH (R) : =mE=ETH THUREETEH F0d |

Ueddu-gd ufdar A fRrgd -

1. &Y (A) U DY (R) 398 94H 310 9 (R) 3fd U (A) Dy IHIHAT
AR 3|

2. HYAGUAN §d W 9 (R) 31 T (A) HU-E FHIEHT SmedT A1 |

3. (A) 9IH I (R) SRIH|

4. (A) HUIH ] (R) IIH]|

Options :

9209067473. 1
9209067474. 2
9209067475. 3
9209067476. 4



Question Number : 69 Question Id : 9209061888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

33 HY-Tgd ddd -

DYAH (A) : TR FA A= B A5 |

DHYAH (R) : ==l yHvREETETH F6d |

Ueddy-gd Uider T fRd -

1. &Y (A) U HYH (R) 34T TH 310 9 (R) 3fd HuH (A) SY=8 FHEAT
ARAT 3|

2. HYFAgUAN Hd W 9 (R) 3fd FY (A) FYT JHEHT RS AR |
3. (A) ¥dH U (R) 3|

4. (A) STHUH U (R) §dH|I

Options :

9209067473. 1
9209067474. 2
9209067475. 3
9209067476. 4

Question Number : 70 Question Id : 9209061889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
33 HYEY ddd -
PUTH(A) : sreigeen: sAfomyaeract: WzaTg: A |
HYTH (R) : AEEWEEE: H1: 3. 200 A |
e ygd ufdwr wHre =d -

1. Y (A) U HYH (R) 34T FIH 310 9 (R) 3fd HuH (A) Hy"g FHIEAT
BT 3% |

2. PHYFAgUAN Hd W F (R) 3fd $Y (A) FYTH FHEH] ARSI AR |
3. (A)UdH U (R) 39|

4. (A) HHIH U (R) HUH|



Options :

9209067477. 1
9209067478. 2
9209067479. 3
9209067480. 4

Question Number : 70 Question Id : 9209061889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 HYAGY add -
DYTH (A) : weligman: Ffamgaerac: WEaTg: A6 |
HYTH (R) : AEEIZETEL: F: §. 200 HAHA |
e y-gd ulidar A fagd -

1. B (A) U HYH (R) 398 I4H 310 T (R) 3fd U+ (A) Fy=g gdiHT
AT AR |

2. HYFAGUANd 9 W 9 (R) 3fd Sy (A) TR HIEHT RS AT |
3. (A) HTH U (R) SETH|
4. (A) HIH I (R) IO

Options :

9209067477. 1
9209067478. 2
9209067479. 3
9209067480. 4

Question Number : 70 Question Id : 9209061889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



313 BYgd dcid -

PUTH (A) : sreigean: sAfomygaract: HFaTg: STH |
HYTH (R) : AEEIEETEL: Fe: §. 200 HATHA |
UedbY-gd Uid@l WHIHH fodd -

1. BYF (A) 3T HYH (R) 398 IIH 310 9 (R) 3fd U (A) FUTR oI
RS S|

2. PYAgUAN 9 W g (R) 3fd $YUA (A) FYTR JHEHT RS AR |

3. (A)HIHA U (R) SHOH]|
4. (A) HHOH U] (R) HIH|I

Options :

9209067477. 1
9209067478. 2
9209067479. 3
9209067480. 4

Question Number : 71 Question Id : 9209061890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 HYgd daid —
BUTH (A) : TramisgH Ty waf |
HYTH (R) : F=aTHa wieaH waf |
Ueaeygd ufdd@r Ay fod -

1. &Y (A) U HYH (R) 34T TH 310 9 (R) 3fd Hu+ (A) Sy=8g AT
ARAT 3|

2. HYFGUAN Hd W F (R) 3fd $Y (A) FYTH JHEHT RS AR |
3. (A) U@ U (R) 3|
4. (A) HTH U (R) TIH|

Options :

9209067481. 1
9209067482. 2
9209067483. 3



9209067484. 4

Question Number : 71 Question Id : 9209061890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
33 HYEY deld —
HYUTH (A) : FamisgH FovesH waf |
EHYTH (R) : A F=qses wafd |
e y-Tgd idar arH & -

1. ®YH (A) AU HYH (R) 34T FIH 310 9 (R) 3fd Hu+ (A) Sy=8g AT
BT 3T |

2.  HYIGUANT I W 1 (R) 3fd FYA (A) T FHEHT Re A1 |
3. (A) UdH U (R) SAH|
4. (A) oHOH I (R) TH|

Options :

9209067481. 1
9209067482. 2
9209067483. 3
9209067484. 4

Question Number : 71 Question Id : 9209061890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



33 By ddd -

PYTH (A) : TmdzgH Fwge wafd |
HYTH (R) : Fwaria wiea i |
e y-gd uldar A fd -

1. &Y (A) U HYH (R) 398 949 310 T (R) 3fd FuH (A) Fy=a gdiHAT
ARAT K|

2.  HYAGUANT 9 W 9 (R) 3 FYUA (A) TR FHIEHT RS AT |
3. (A) IUH U (R) SETH|
4. (A) HIH I3 (R) TdH|

Options :

9209067481. 1
9209067482. 2
9209067483. 3
9209067484. 4

Question Number : 72 Question Id : 9209061891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 HYEY deld —
DYTH (A) : TR SEATE ACEEE s |
BYTH (R) : AEATEHAE H19%: FIHINIE FHM |
e y-gd Uidar HrYH fd -

1. &Y (A) AU HYH (R) 34T TIH 310 9 (R) 3fd Hu (A) SY8 FHEMAT
AR 3|

2. HYIGUAN 9 W 1 (R) 3fd FYH (A) FYR FHEHT e A1 |
3. (A) UdH U (R) SAH|

4. (A) HHIH Y (R) HHH]I

Options :

9209067485. 1
9209067486. 2
9209067487. 3



9209067488. 4

Question Number : 72 Question Id : 9209061891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 HYEY deld —
DYTH (A) : TR SEATE ACEEE s |
BYTH (R) : AEATEHAE H19%: FIHINIE FHM |
e y-gd Uidar HrYH fd -

1. &Y (A) AU HYH (R) 34T TIH 310 9 (R) 3fd Hu (A) SY8 FHEMAT
B 3T |

2. HYIGUAN 9 W 1 (R) 3fd FYH (A) FYR FHEHT e A1 |
3. (A) UdH U (R) SAH|

4. (A) HIH I (R) T

Options :

9209067485. 1
9209067486. 2
9209067487. 3
9209067488. 4

Question Number : 72 Question Id : 9209061891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 HYgd daid —

DY (A) : Gemorear sEaTer SREEEi sEr |
HYTH (R) : AT HIo: FTARIE W |
UeddyAgd ufdar A fd -

1. &Y (A) U HYH (R) 39 94H 310 T (R) 3fd U (A) Ty IHIHHAT
ARSAT K|

2. HYAGUAN §d W (R) 3fd TYUA (A) HUAT FHIHHT e A1 |
3. (A) HOH U (R) SEIH|
4. (A) HIH 1 (R) T9H|

Options :

9209067485. 1
9209067486. 2
9209067487. 3
9209067488. 4

Question Number : 73 Question Id : 9209061892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ey shufafr fada -

(A) T

iB) M

(Cy +w=

D) z=A

(E)  frem

sefiferfEay THEEw fRga—

(1) (A, (B), (C), (D), (E)

(2)  (E) (C), D), (B), (A)

(3)  (B), (A), @), (C). (E)

(4)  (C), (D), (E), (A), (B)
Options :

9209067489. 1
9209067490. 2



9209067491. 3
9209067492. 4

Question Number : 73 Question Id : 9209061892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g sFafyufo fada -

(A) =T

(B) ™

(©) wE

D) 7=

(E) fem

srenferady gt faqa—

(1) (A), (B), (C), (D), (E)
(2)  (E), (C). D), (B), (A)
(3 (B).(A), D), (C). (E)

i(4) (C). (D), (E)., (A). (B)

Options :

9209067489. 1
9209067490. 2
9209067491. 3
9209067492. 4

Question Number : 73 Question Id : 9209061892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ay FaER fagay -

(A) AT

(B)y M

() wE

D) z=A

(E)  Tagm

srenferady gt faqa—

(1) (A), (B), (C), (D), (E)
(2)  (E), (C), (D), (B), (A)
(3 (B) (A), D), (C). (E)
4 (0), (D), (E), (A). (B)

Options :

9209067489. 1
9209067490. 2
9209067491. 3
9209067492. 4

Question Number : 74 Question Id : 9209061893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T ETO AR 5 -
(&) #

(B)  wiasm

(Cy Ty

(D)  FerEm,

(E) I

sty et faqa—

(1) (B) (A), (D), (E), (C)
2y (C), (B), (D), (E), (A)
(3) (A (B), (C), (D), (E)

@) (D). (B), (A). (C), (E)

Options :



9209067493. 1
9209067494. 2
9209067495. 3
9209067496. 4

Question Number : 74 Question Id : 9209061893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AN WEPTON FRAERH 5 -
(A)

(B)  wiasm

(Cy Frmamm

(D) I

(E) 354

SrenfefEay THiET Rga—

(1) (B), (A), (D), (E), {(C)
(2) (C), (B), (I, (E), (A)
(3 (A), (B), (C), (D), (E)

(4) (D) (B), (A), (C). (E)

Options :

9209067493. 1
9209067494. 2
9209067495. 3
9209067496. 4

Question Number : 74 Question Id : 9209061893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TN YE HHAa e % -

VI

(B)  wfamm

() fmreEmg

(D)  FeEom

(E) 0

sfefiferfaay Tt faqd—

(1) (B). (A). (D). (E), (C)
(2) (C), (B), (D). (E). (A)
(3) (A), (B), (C), (D). (E)
(4 (D). (B), (A), (C), (E)

Options :

9209067493. 1
9209067494. 2
9209067495. 3
9209067496. 4

Question Number : 75 Question Id : 9209061894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TAYATHEHA] FEHAHHAR a0 F5 -
@  gdmm:

(B) W

(C)  HAfvEn:

(D) ==

(E) e

enferaay i Rgad—

(1) (C). (D), (B), (A), (E)
(2) (B), (C). (D), (E). (A)
(3) (E), (D), (B), (C), (E)
(4) (A), (B), (C), (D), (E)

Options :



9209067497. 1
9209067498. 2
9209067499. 3
9209067500. 4

Question Number : 75 Question Id : 9209061894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TAHTHIHA] FIEHAIAR a6 F5 -
A  gdE:

(B) &

(C)  safaem:

(D) =

(E)  WETEm:

efifefaay g fgd—

(1) (C), (I, (B), (A), (E)
(2) (B), (C), (), (E). (A)
(3) (E), (I, (B), (C). (E)

(4) (A), (B), (C), (D), (E)

Options :

9209067497. 1
9209067498. 2
9209067499. 3
9209067500. 4

Question Number : 75 Question Id : 9209061894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"

TATHTHIHA] HIEHAHEN SHaF0H F5 -

(A) T

(B) HH:

() SAfeEm:

(D) M

(E) WHEEm:

sfiferEay THEETR fRgd—

(1) (C), (D), (B), (A), (E)
(2) (B), (C), (), (E). (A)
(3) (E), (D), (B), (C), (E)
(4) (&), (B (O), (D), (E)

Options :

9209067497. 1
9209067498. 2
9209067499. 3
9209067500. 4

Question Number : 76 Question Id : 9209061895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A ST At ey fauay -
(A)  HY

(B)

(C) =

D) IFH

(E)  wmieE:
sefifefaay g faga—

(1) (B (O), (D), (E, (A)
(2)  (E), (C), (B), (D), (A)
(3)  (A), (B, (©), (D). (E)

(4) (D), (E), (A), (B), (C)



Options :

9209067501. 1
9209067502. 2
9209067503. 3
9209067504. 4

Question Number : 76 Question Id : 9209061895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T AT A wufrdy fatay -
(A)

(B)y =W

(C) ey

(D)  IEE

(E) = E:

seffefEay geEET Rgd—

(1)  (B), (0), (D), (E), (A)
(2) (E), (C), (B), (IM), (A)
(3) (A, (B), (C), (D), (E)
(1) (D). (E), (4), (B). (C)

Options :

9209067501. 1
9209067502. 2
9209067503. 3
9209067504. 4

Question Number : 76 Question Id : 9209061895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TNl SAHHT AETEEA eI FEHeE HHay -

(A) g

(B) {m

(C) ey

(D) T

(E)  =IeEn:

Sieffeady ST fga—

(1)  (B). (C). (D), (E), (A)
(2) (K, (C), (B), (D), (A)
(3 (A, (B), (C), (D), (E)
(@) (D). (E), (A), (B). (O)

Options :

9209067501. 1
9209067502. 2
9209067503. 3
9209067504. 4

Question Number : 77 Question Id : 9209061896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT WA ArETEETe HRAeI -
(A) =SS

(B)  3iefrs:

(C)  aitomiis:

(D)  &faes:

(E)  ariromfirs:

siefiferfEay THte fga—

(1) (A), (B), (C), (D), (E)
(2)  (B), (C), (D), (A), (E)
(3 (E), (B), (C), (D), (E)

4)  (E), (D), (&), (B), (E)



Options :

9209067505. 1
9209067506. 2
9209067507 3
9209067508. 4

Question Number : 77 Question Id : 9209061896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TAS WA AETEEie FAeI -
(A)  =EMwE:

(B)  aitefis:

(C) 3T

(D)  &nfae:

(E)  driromis:

sefiferfEay Tt faqa—

(1)  (A), (B), (C), (D), (E)
(2)  (B), (C), (D), (A), (E)
(3)  (E) (B), (C). (D). (E)
(4)  (E), (D), (A). (B), (E)

Options :

9209067505. 1
9209067506. 2
9209067507. 3
9209067508. 4

Question Number : 77 Question Id : 9209061896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT WEH AT wafee -

(A) =TS

(B)  sitefsh:

(C)  SAoiS:

(D) =i

(E)  arioomfa:

ey FHe faga—

(1) (A), (B), (C), (D), (E)
(2)  (B), (C), (D), (A). (E)
(3 (E), (B), (C), (D), (E)
(4)  (E), (D), (A). (B), (E)

Options :

9209067505. 1
9209067506. 2
9209067507. 3
9209067508. 4

Question Number : 78 Question Id : 9209061897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT SUHRIH] AAGIAGH HHTET HE -
(A)  fafa

(B) =M

(Cy Fm

(D) v

(E) T

sefifeiaay TR Rga—

(1) (A), (B). (C), (D), (E)
(2) (B (A), (D), (B), (E)
(3)  (E), (B), (C), (D), (A)
(4)  (B), (D), (E), (A), (C)

Options :



9209067509. 1
9209067510. 2
9209067511. 3
9209067512. 4

Question Number : 78 Question Id : 9209061897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'qﬁ'q"[a" .-E rﬁ. .- r_

(&) il

(B) =91

(Cy Fm

(D) wEg

(E) Toeres

seffefaay TR Rga—

(1) (A), (B), (C), (D), (E)
(2) (E), (A), (IM, (B), (E)
(3)  (E) (B (C), (D), (A)
(4) (B), (D), (E), (A), (C)

Options :

9209067509. 1
9209067510. 2
9209067511. 3
9209067512. 4

Question Number : 78 Question Id : 9209061897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T FEFEH] AT FHEETT HEY -

(A)  wfafa

(B) =AM

(Cy @M

(D) &g

(E) fhmarm

Sieffeiaay s Rgd—

()  (A), (B), (C), (D), (E)
(2)  (E).(A), D), (B), (E)
(3) (E), (B), (C), (D). (A)
(4) (B), (D), (E), (A), (C)

Options :

92090675009. 1
9209067510. 2
9209067511. 3
9209067512. 4

Question Number : 79 Question Id : 9209061898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A He il SR HEfa -
A)  faafs:

(B) WEmE:

(€) g

(D) =T

(E) &

isfifaraay iR fRga—

(1) (A, (B), (C), (D), (E)
(2) (D), (A), (C), (B), (E)
(3) (B, (C), (A), (D), (E)
(4)  (E), (B), (D). (A). (C)

Options :
9209067513. 1



9209067514. 2
9209067515. 3
9209067516. 4

Question Number : 79 Question Id : 9209061898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(A faufa:

(B)  WrAm:

(C) ZE

(D)  =FETEm

(E) =

sfehferRaay iR Rga—

(1) (&), (B), (C), (D), (E)
(2) (D), (A), (C). (B), (E)
(3) (B, (C), (A), (D), (E)
(4)  (E), (B), (D), (A). (C)
Options :
9209067513. 1
9209067514. 2

9209067515. 3
9209067516. 4

Question Number : 79 Question Id : 9209061898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TATH] e SRS R~

Ay  faafs:

(B) WEmE:

(€) g

(D) =T

(E) =

sisffefaay s fRga—

(1) (A, (B), (C), (D), (E)
(2) (D), (A}, (C), (B). (E)
(3)  (B), (C), (A), (D), (E)
(4) (E), (B), (D), (A). (C)
Options :
9209067513. 1
9209067514. 2

9209067515. 3
9209067516. 4

Question Number : 80 Question Id : 9209061899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
seffefaanitey=gd add|

SIHBUTH o, s 41 e
SHHYTH Il : 7da gfed wafa

ST N AGIAN FATEIT el -

1. SNy dH|

2. AHBHYTEHH HIH|

3. HHBYTH - | OH U MTHBYTH — || S ETH |
4, HIHBYTH - | SGH U HHBYTH — 1| TIH|

Options :

9209067517. 1
9209067518. 2
9209067519. 3



9209067520. 4

Question Number : 80 Question Id : 9209061899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sefffaaniHe gy add|

SHTHBUTH - “foran: st i) afe
SHIHBYAH Il - wre gfe wafa)

SUaaH B ITGIHTISICT THATES fered -

1. SHfHeyed TaH|

2. A HEYTEOH HTIH|

3. AHHBYTH - | GIH U= SATHHYTH — 1| SRITH|
4, HHBYAH - | SHGH U AHBYTH — 1| FIH|

Options :

9209067517. 1
9209067518. 2
9209067519. 3
9209067520. 4

Question Number : 80 Question Id : 9209061899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

seffefaaatteyagd adadl

SHPUTH - foror. sivrams: 91 sifen
HBYTH 1| : = qfFd vwafa

g deTGIATHC e e -

1. SHHBYgd aH|

2. SHHHYTEIH HFTH|

3. IHHPYTH - | GIH U HBYTH - || S HTH |
4, SAHBYTH - | SIH W AHBYTH - || TIH|

Options :



9209067517. 1
9209067518. 2
9209067519. 3
9209067520. 4

Question Number : 81 Question Id : 9209061900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sfefferaaniieyagd add|

SINFUTI  © 3w SR i e
THBUAH 1| : T T s

SHRfFaH PTG FH1ETS fis]d -

1. SHiHEYgd aH|

2. SHHHYTEIH FTH|

3. HHFYTH - | TOH U SHTHHYTH - 11 ST |
4, IHHPYTH - | SIH R A HBYTH - 1| TIH|

Options :

9209067521. 1
9209067522. 2
9209067523. 3
9209067524. 4

Question Number : 81 Question Id : 9209061900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



sefferRaanfieyagd add

DY : 37w FAAFEHE g AT
HUDHYTH -1 : 79+ F=TH HEmE)
Soaarfiim g e fded -

1. SN IdH|

2. AHYFYTEUH I

3. DY - | GO TR HHHYTH - |1 3|
4. SMTHBYTH — | IHTH R MHBYTH - 1| TIH|
Options :

9209067521. 1

9209067522. 2

9209067523. 3
9209067524. 4

Question Number : 81 Question Id : 9209061900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
sefifaaaAiNSHYed add|

MUBYTH  : 3. TR Fe: TfE
SHTEHYTH —I| : a7 draw S

ST D STGIATII JH1ENST fe]d -

1. SHfHeygd |

2. SHINHYTETH FTH|

3. HHSYTH - | TIH U SHTHHYTH - 11 SR
4, HBYAH - | HTH U A HBYTH — Il TIH|
Options :

9209067521 1

9209067522. 2

9209067523. 3
9209067524. 4



Question Number : 82 Question Id : 9209061901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sieffefaanieyagd adadl

SNPUTH-|  : srerigagam fvavemi gera Fyaaam@ion 5
HUDYAH || : =wrrA famn Frrame 76 wEwm)
SufacAf BTG THTES fired -

1. SffHEYTd IIH|

2. I HBHYTEHH TIH|

3. IHHBYTH - | GIH W HIHBYFH - || S HTH |

4. AHBYTH - | STH W HHBYTH - || TIH|

Options :

9209067525. 1
9209067526. 2
9209067527. 3
9209067528. 4

Question Number : 82 Question Id : 9209061901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

seffeRaaniieyagd add|

SINPUT-| - srerigamam favavem gera Fymam@ion e
HYSYAH || : =errA famn frrae 76 )

U TR B UTGIHI ST AT e -

1. AHBYIEd IIH|

2. SNHYTEIH FTH|

3. IHHBYTH - | IH W HHBYTH - || S HTH |

4. AMHPYTH - | SRIH R HHBYTH - || TIH|

Options :
9209067525. 1



9209067526. 2
9209067527. 3
9209067528. 4

Question Number : 82 Question Id : 9209061901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AeifrRaaaitey—gd add|

SHPYTH - AAFeor famawer geraa fraaamraim A
HIHBYAH | : =awrma fam Fraae 7 swwam)

U aaH BTG THTEST fde]d -

1. NSyl TaH|

2. HHBYTEOH TIH|

3. HBYTH - | TIH U SATHHYTH — 1| SRTTH |
4, IHBYH - | SHTH U= SHHBYTH - 1| FIH|

Options :

9209067525. 1
9209067526. 2
9209067527. 3
9209067528. 4

Question Number : 83 Question Id : 9209061902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



seffeaaniieygd ddd|

NPT  © e Forargion mmnforssfenn =)
SHIHBYAH Il : Fern: wiestman sty wrs: i)
U FARTNBIGIAI ST FHATENS o] -

1. ey IaH|

2. SHBYTETH HTH|

3. HHBYTH - | TOH U SATHHYTH - 1| SRITH |
4. SUBHYTH - | UHH R AHBYTH — 1| FAH|

Options :

9209067529. 1
9209067530. 2
9209067531. 3
9209067532. 4

Question Number : 83 Question Id : 9209061902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
sefifeaaniteygd add|

NPT  © e Forargion mmanforssfann =)
STHBYAH I - Fean: wiestman sty wars: i)
SHFAR PTG T FHATENS e -

1. S HEYIgd IIH |

2. SHBYTEIH FTH|

3. HHBYTH - | TTH U SATHHYTH - 1| SRTTH |
4, SAHPYTH - | SRIH R AHHBEYTH - || TIH|

Options :

9209067529. 1
9209067530. 2
9209067531. 3
9209067532. 4



Question Number : 83 Question Id : 9209061902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
seffeaaniieyagd addl

SINGYTH  © e Frapgion smnforssfann =)
SHBYTH Il : . wtestma Fisy w=m: it
STfaHN UG AT e -

1. SfHEYgd IIH|

2. SHNHYTEIH TTH|

3. SHHBYTH - | TIH TR HHBYTH - 1| S HTH |
4. AHPYTH - | SIH R HHHYTH - || TIH|

Options :

9209067529. 1
9209067530. 2
9209067531. 3
9209067532. 4

Question Number : 84 Question Id : 9209061903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
eNfefaanieygd add |

HTHBUTH el gy v it

HIHBEYAH Il : Frafremeren $er 1 =gl
Soaarfim TGS FATEs fied -

1. SffHSYgd ¥aH)

2. AHYFYTEHH I

3. DY - | O TR HHHYTH - |1 G|
4, HBYTH - | STH U= HHBYTH — Il TIH|

Options :
9209067533. 1



9209067534. 2
9209067535. 3
9209067536. 4

Question Number : 84 Question Id : 9209061903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeifeRaaniiey—gd add |

SINBUTH S oy e afen)

STHBYTH 1| : Frenfrmeeaeea 7ew 3 wigar
SHaaH BTG THTENS faod -

1. SHfHeYgd |

2. HHFYTEHH T

3. HHFYTH - | TOH U SHTHHYTH — 11 SRTTH |
4, HBYAH - | HIH U= HHBYAH - 1| TIH|

Options :

9209067533. 1
9209067534. 2
9209067535. 3
9209067536. 4

Question Number : 84 Question Id : 9209061903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



sefifaaaniteygd add|

HHBUTH  © i gy 29 afen)

THSHYTH -~ : Frenfregreiermen $esh 7wl
SHFaHT B eSTGIHII JH1ENS fsfd -

1. SHiHEYTgd |

2. SIHHYTEIH FTH|

3. HHHYTH - | TOH U SHTHHYTH — 11 ST |
4, IHHPYTH - | IH R AHBYTH - 1| §IH|

Options :

9209067533. 1
9209067534. 2
9209067535. 3
9209067536. 4

Question Number : 85 Question Id : 9209061904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
seffefaaniteygd add|

STHPYTH- et s s
SHYHYTH 1| : e wyfa 7 Twad |

SHfaeH BTG ST AHTEST fao]d -

1. SHiHBYgd IaH|

2. HHHYTEUH HTH|

3. HBYTH - | TTH U SATHHYTH — 1| 3RITH|
4, IHBYTH - | SEGH U= HHBYTH - || TIH|

Options :

9209067537. 1
9209067538. 2
9209067539. 3
9209067540. 4



Question Number : 85 Question Id : 9209061904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
effefaaRiteygd addl

ATHBYTH-  : wyfery s st
SHYHYTH 1| : e wyfa 7 vad |
eGSR Tt el -

1. NSyl aH|

2. A HHYTEUH TTH|

3. HBYTH - | TIH U SATHHYTH — 1| SRITH]|
4, IHBYTH - | SETH U= HHBYTH - || FIH|

Options :

9209067537. 1
9209067538. 2
9209067539. 3
9209067540. 4

Question Number : 85 Question Id : 9209061904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
sefferaaniteygd addl

HIUBYTH- : wyferfiy s swafi
SHFYAH I : Thewmmw fa 7 7w |

S UsIGIHIHC e e -

1. SHHBYTEd IIH|

2. SHHDHYTEIH |

3. IHHBYTH - | GIH TR HBYTH - || SHTH|
4, SAHBYTH - | RIH R HHBYTH - || GIH|

Options :
9209067537. 1



9209067538. 2
9209067539. 3
9209067540. 4

Question Number : 86 Question Id : 9209061905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

seffeaaniieygd addl

HINBYTH- 7y weam=rm: waf)
SHYHYTH || : TEeEeEd |
SRfFaHTBSTGIHIST FHTeTs e -

1. SHfHeYgd TaH|

2. SHDHYTEIH S HTH|

3. IHHBYTH - | TOH U SATHHYTH - || SRITH|
4, HBYTH - | 3ETH G HHBYTH - 1| TIH|

Options :

9209067541. 1
9209067542. 2
9209067543. 3
9209067544. 4

Question Number : 86 Question Id : 9209061905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



sefferfaaniteyagd addl

HIUFYTH-|  : 7oy weamr=npn: wafa
SHFYTH || : FEeE=Ed wafd)
SRfFaTBesGIHIS TS R -

1. SHiHEYTd IaH|

2. SHHDHYEIH S HTH|

3. SHHBYTH - | IH U HBYTH - || STH|
4, SAHBYTH - | IH W A HEYTH - 1| FIH|

Options :

9209067541. 1
9209067542. 2
9209067543. 3
9209067544. 4

Question Number : 86 Question Id : 9209061905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
seffefaanitey=gd add|

HIHFUTH-|  : gy weamr=rpn: wafa
MHFYTH | : FETeE=E wa&fi|
SofaafBerTGIA ST FATE faed -

1. SHfHeygd IaH|

2. SHHYTgUH rHTH|

3. IHUDHYTH - | OH U HBYTH — || SHTH|
4, HHBYTH - | SETH I HIHBYTH - 1| HIH|

Options :

9209067541. 1
9209067542. 2
9209067543. 3
9209067544. 4



Question Number : 87 Question Id : 9209061906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fadwey wife: Jf)

(A)  EE:

(By  Hm:

(Cy T=u

(I HAT=RTET:

(E)

&rem@ﬂg GHTE fagd—

(1) (A), (C), (E) (2) (A), (B), (D)

(3) (A), (B), (C) (4) (C), (D), (E)
Options :

9209067545. 1
9209067546. 2
9209067547. 3
9209067548. 4

Question Number : 87 Question Id : 9209061906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fadwy, Ao @)

(A) e

(B)  [m:

(Cy T=u

(D) AT

(E)

Mﬁﬂ%ﬁﬂg e fRd—

(1) (AL (O), (E) (2) (A, (B), (D)

(3) (A, (B)(O) 4 (C). (D) (E)
Options :

9209067545. 1
9209067546. 2
9209067547. 3
9209067548. 4



Question Number : 87 Question Id : 9209061906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fadwey wife: Jf)

(A)  3mEE:

(B)  9m:

(Cy T

(D)  HH:

(E) hie:

sefferfaay gHiE T fRgd—

(1) (A), (C), (E) (2) (A), (B), (D)

(3 (A), (B), (C) (4) (C), (D), (E)
Options :

9209067545. 1
9209067546. 2
9209067547. 3
9209067548. 4

Question Number : 88 Question Id : 9209061907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 7 A ¢

(A) T

(B) 3w

(C) 'TJI:

(D) &

(E) #

3 FHIEIR fagd—

(1) (A), (D) (2) (B), (E)

(3 (D), (E) (4) (C), (D
Options :

9209067549. 1
9209067550. 2
9209067551. 3
9209067552. 4



Question Number : 88 Question Id : 9209061907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
yEHHTETE 3 A ?

(A) T

(B) WA

(C) T

(D) &

(E) *F

3 G faga—

(1 (A), (D) (2) (B), (E)

(3) (D}, (E) (4) (C), (D)
Options :

9209067549. 1
9209067550. 2
9209067551. 3
9209067552. 4

Question Number : 88 Question Id : 9209061907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR 7 A ¢

(A) T

(B) gAY

(C) 'TJI:

(D) T

(B) &

sefferfaay gHiER fga—

(1) (A), (D) (2) (B), (E)

(3 (D), (E) 4y (C), (D
Options :

9209067549. 1
9209067550. 2
9209067551. 3
9209067552. 4



Question Number : 89 Question Id : 9209061908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HETl: 9o |

(A)  sTEETE-HETEaETH

(B)  \MfeR==m

(C) SomeEaEy

(D)  ASEAITHH

(E)  Arashaarm

sefiferfEay THe faga—

(1) (C), (D), (E) (2) (A, (B)

() (A), (D), (E) (4) (A, (C), (D)
Options :

9209067553. 1
9209067554. 2
9209067555. 3
9209067556. 4

Question Number : 89 Question Id : 9209061908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HETl: 9o |

(A)  sTEETE-HETEaETH

(B)  \MfeR==m

(C) SomeEaEy

(D)  ASEAITHH

(E)  Arashaarm

sefiferfEay THe faga—

(1) (C), (D), (E) (2) (A, (B)

() (A), (D), (E) (4) (A, (C), (D)
Options :

9209067553. 1
9209067554. 2
9209067555. 3
9209067556. 4



Question Number : 89 Question Id : 9209061908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HETl: 9o |

(A)  sTEETE-HETEaETH

(B)  \MfeR==m

(C) SomeEaEy

(D)  ASEAITHH

(E)  Arashaarm

sefiferfEay THe faga—

(1) (C), (D), (E) (2) (A, (B)

() (A), (D), (E) (4) (A, (C), (D)
Options :

9209067553. 1
9209067554. 2
9209067555. 3
9209067556. 4

Question Number : 90 Question Id : 9209061909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EREICERE LI

(A) e

(B) HalEN:

(C)  ufassEy

(D) \AEEE:

(E) ==

3 FHIITHR fga—

(1) (B), (C), (D) (2) (A). (B), (E)
@ (D), (E) (4) (A), (D), (E)
Options :

9209067557. 1
9209067558. 2
9209067559. 3
9209067560. 4



Question Number : 90 Question Id : 9209061909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EEEICER BRI TR 6

(A)  AfEE

(B) HalEN:

(C)  ufawrs

(D)  HeEEA:

(E) ==

3 FHIITHR fga—

(1)  (B), (C), (D) (2) (A). (B). (E)
@ (D), (E) (4) (A), (D). (E)
Options :

9209067557. 1
9209067558. 2
9209067559. 3
9209067560. 4

Question Number : 90 Question Id : 9209061909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EEEICEE B L E R

(A) il

(B) HAER:

(C) s

(D)  HAEA:

(E) Ham:

i FHIITER g —

(1) (B, (C), (D) (2) (A) (B), (E)

(3) (D), (E) 4) (A), @), (E)
Options :

9209067557. 1
9209067558. 2
9209067559. 3
9209067560. 4



Question Number : 91 Question Id : 9209061910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A HEg: g |

(A wWEfE

(B) wE-TifemEmeE:

(C) HEFEE=:

(D)  wEEIfE

(E)  ifedams:

sefiferaay SR Rga—

(1) (C), (D) (2) (A), (B), (E)

(3) (B), (C), (D) (4) (C), (), (E)
Options :

9209067561. 1
9209067562. 2
9209067563. 3
9209067564. 4

Question Number : 91 Question Id : 9209061910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HAGNH HeEg: gdd|

A  wWERE

(B)  wfea-ifeams:

(C) HARHEHA:

(D) T

(B) ifeare:

seffeaay SR Rga—

(1) (C), (D) (2) (A), (B), (E)

(3) (B), (C), (D) 4) (C), (D), (E)
Options :

9209067561. 1
9209067562. 2
9209067563. 3
9209067564. 4



Question Number : 91 Question Id : 9209061910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A HEg: g |

(A wWEfE

(B) wE-TifemEmeE:

(C) HEFEE=:

(D)  wEEIfE

(E)  ifedams:

sefiferaay SR Rga—

(1) (C), (D) (2) (A), (B), (E)

(3) (B), (C), (D) (4) (C), (), (E)
Options :

9209067561. 1
9209067562. 2
9209067563. 3
9209067564. 4

Question Number : 92 Question Id : 9209061911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wrifaafassre- d8 F9-Y9: a0d

(A)  fiErEe

(B)  HUwETE=

(C) s

(D) T

(B)  wWEEE=

efferiaay aHiErg fRga—

(1) (A), (O), (B) (2) (A (B), (O). (D)

(3) (B, (C), (E) (4) (C), (D), (E)
Options :

9209067565. 1
9209067566. 2
9209067567. 3
9209067568. 4



Question Number : 92 Question Id : 9209061911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

rtfaEasser 8 F9=-Yg: Tdd|

(A)  AIfEE

(B)  HUwETEE

(C)  ersm:

(D) WA

(E) WeEEm=

senfefaay gy Rga—

(1) (A, (O), (B) (2) (A (B), (O). (D)

(3) (B), (C), (E) (4) (C), (D), (E)
Options :

9209067565. 1
9209067566. 2
9209067567. 3
9209067568. 4

Question Number : 92 Question Id : 9209061911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wrifaafassre- d8 F9-Y9: a0d

(A)  fiErEe

(B)  HUwETE=

(C) s

(D) T

(E) WEEE

efferiaay aHiErg fRga—

(1) (A), (O), (B) (2) (A (B), (O). (D)

(3) (B, (C), (E) (4) (C), (D), (E)
Options :

9209067565. 1
9209067566. 2
9209067567. 3
9209067568. 4



Question Number : 93 Question Id : 9209061912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hraw TEaEy Jad|

(A)  iairRaTE:

(B)  siferiasama:

(C)  rfemiERaE:

(D oo

(E) enfasma:

siefiferfgay FHEHR Rgd—

(1) (B). (C), (D), (E) (2) (A), (C), (D), (E}

(3) (A), (B), (C), (E) (4) (B), (C). (A), (D)
Options :

9209067569. 1
9209067570. 2
9209067571. 3
9209067572. 4

Question Number : 93 Question Id : 9209061912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hraw TEaEy Jad|

(A)  FivEfrERE:

(B)  eriasamE:

(C)  ienfEsTE:

(D) ez

(E) anfasvma:

siefiferfgay FHEHR Rgd—

(1) (B). (C), (D), (E) (2) (A} (O), (D), (E)
(3) (A), (B), (C), (E) (4) (B), (C). (A), (D)

Options :

9209067569. 1
9209067570. 2
9209067571. 3
9209067572. 4

Question Number : 93 Question Id : 9209061912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

S Ty J9d|

(A)  fmirEaE:

(B)  siterfasamE:

(C) i

(D) fammmE:

(E) enfasma:

isffeaiaay v fRga—

(1) (B), (C), (D), (E) (2y (A, (C), (D, (E)

(3) (A). (B). (C), (E) (1) (B, (C), (A), D)
Options :

9209067569. 1
9209067570. 2
9209067571. 3
9209067572. 4

Question Number : 94 Question Id : 9209061913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

List — I List — II
(A) FuT=ETH (I) Tr=arias:
(B) FeFa: (I[) T
(C) ¥H=9E: (IIT) Fw=neEa:
(D) FAFeihed: (IV) ETgEH
sfefferfaay fasmety T fod -

(1) (A)-(IV), (B)-(I1I), (C)-(II), (D)-(I)
(2) (A)-(I), (B)-(I1), (C)-(III), (D)-(IV)
(3) (A)-(III), (B)-(IV), (C)-(II), (D)-(T)
(4 (A)-D, (B)-(I), (C)-(IV), (D)-(I1I)

Options :

9209067573. 1
9209067574. 2
9209067575. 3
9209067576. 4

Question Number : 94 Question Id : 9209061913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

List — I List - 11
(A)  IurET (I) T=EdS:
(B) FeFa: (I) F=EEE:
(C) HHATE: (I1T) Femee:
(D) FFewhed: (IV) HE9TE=Y
sfefferfaay fasmety T fod -

(1) (A)-(IV), (B)-(IID), (C)-(1D), (D)-(I)
(2)  (A)-(D), (B)-(ID), (C)-(IIT), (D)-(IV)
(3) (A1), (B)-AV), (C)-(1D). (D)-(T)
(4)  (A)-ID, (B)-(D). (C)-(IV), (D)-(III)

Options :

9209067573. 1
9209067574. 2
9209067575. 3
9209067576. 4

Question Number : 94 Question Id : 9209061913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

List - I List - 11
(A)  IurETl (I) T=Ed:
(B) FoF=: (I) F=EEE:
(C) HE=I9g: (IIT) TanedEs:
(D) FFheihed: (IV) sTETg=q
Seferady fadeay Tt faqd -

(1) (A)-IV), (B)-(I11), (C)-(1D). (D)-(D)
(2) (A, (B)-(ID), (C)-(III), (D)-(IV)
(3)  (A)-(IID), (B)-(V), (C)-(1D), (D)-(T)
(4)  (A)-D), (B)-(I), (C)-(IV), (D)-(IIL)

Options :

9209067573. 1
9209067574. 2
9209067575. 3
9209067576. 4



Question Number : 95 Question Id : 9209061914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el H¥d -
List - I List - II
(A) TEER: (1) =g
(B) =HY=: (I)  EHEEwER:
(C) - (IIT) 9Ty
(D) TT¥EATY: IvV) frEm:
sefiferaay faseiy Wiy fod -

(1) (A)-(IV), (B)-(11T), (C)-(11), (I}-(T)
(2) (A)-(IT), (B)-(IV), (C)-(11I), (D)-(D)
(3) (A)-(1). (B)-(II), (C)-(I11), (D)-(IV)
(4) (A)-(11T), (B)-(I), (C)-(IV), (D)-(1I)

Options :

9209067577. 1
9209067578. 2
9209067579. 3
9209067580. 4

Question Number : 95 Question Id : 9209061914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

el Hod -
List - I List - II
(A) WEER: (I) =T
(B) THL=: (I) TEEmE:
(C) dT: (IIT) 9rETg:
(D)  TTFEAT: (1V) fram:
JefiferRady fasdeuy Tt fadd -

(1) (A)-(TV), (B)-(11I), (C)-(I1}, (D)-(T)
(2) (A)-(IT), (B)-(IV), (C)-(111), (D)-(T)
(3) (A)-(1). (B)-(II), (C)-(I11), (D)-(IV)
(4) (A)-(I1I), (B)-(I), (C)-(IV), (D)-(II)

Options :

9209067577. 1
9209067578. 2
9209067579. 3
9209067580. 4



Question Number : 95 Question Id : 9209061914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el H¥d -
List - I List - II
(A) WEER: (I =T
(B) =HY=: (I)  EHEEwER:
(C) Ffiama: (IIT) 9Ty
(D) OTFEATY: (Iv) fram:
sefiferaay faseiy Wiy fod -

(1) (A)-(IV), (B)-(11T), (C)-(11), (I}-(T)
(2) (A)-(IT), (B)-(IV), (C)-(11I), (D)-(D)
(3) (A)-(1). (B)-(II), (C)-(I11), (D)-(IV)
(4) (A)-(110), (B)-(T), (C)-(IV), (D)-(1I)

Options :

9209067577. 1
9209067578. 2
9209067579. 3
9209067580. 4

Question Number : 96 Question Id : 9209061915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeH $od -
List — I List - 11
(A)  TUEEY M 5
(By 9m9: (I, &
(C) 7= (1) 9
(D) vaH: (IV) 14
SNy fadmeay Trtaw fad -

(1) (A)-(I), (B)-(I1I), (C)-(IV), (D)-(II)
(2) (A)-(IV). (B)-(I). (C)-(IT), (D)~(11I)
(3) (A)-(I1I), (B)-(ID), (C)-(I), (D)-(IV)
(4) (A)-(I1), (B)-(IV), (C)-(I), (D)-(I1I)

Options :

9209067581. 1
9209067582. 2
9209067583. 3
9209067584. 4



Question Number : 96 Question Id : 9209061915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A Fod -
List - I List - 11
(A)  TUEEY M 5
By 99 an 4
(C) == (1) 9
(D) 9erd: av) 14
SNy fadeay Tt fad -

(1) (A)-(I), (B)-(I1T), (C)-(IV), (D)-(II)
(2) (A)-(IV). (B)-(I). (C)-(IT), (D)-(11I)
(3) (A)-(11I), (B)-(II), (C)-(I), (D)-(IV)
(4) (A)-(11), (B)-(IV). (C)-(I), (D)-(I1I)

Options :

9209067581. 1
9209067582. 2
9209067583. 3
9209067584. 4

Question Number : 96 Question Id : 9209061915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A $od -
List - I Last - 11
(A)  TRETEY M 5
(B)y 99 an &
(C) == (II) 9
(D) wEH: IV) 14
siefifafEay ey TR fd -

(1) (A)-(I). (B)-(III). (C)-(AV), (I)-(1I)
(2 (A)-IV), (B)-(D). (C)-(I), (D)~(I1I)
(3) (A)-(111), (B)-(II), (C)-(I), (D)-(IV)
(4)  (A)-ID), B)-IV), (C)-(I), (D)~(I1I)

Options :

9209067581. 1
9209067582. 2
9209067583. 3
9209067584. 4



Question Number : 97 Question Id : 9209061916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

List - 1 List - II
(A) "l:aﬁ'i: I =4
(B) qﬁfﬂ'{'ﬁ'ﬂ%: (I) =iE::
() wﬁqﬁ: (IIT) WO
(D) (IV) TPHEIHEY:
a{tﬁﬁ‘@ﬁgﬁﬂﬁﬁg@ﬂiﬁﬂgﬂ?ﬁgﬂ—

(1 (A)-(ID). (B)-(I), (C)-(IV), (D)-(11I)
(2) (A)-(T), (B)-(IV), (C)-(ILI), (D)-(IT)
(3) (A)-(IV), (B)-(11D), (C)~(ID), (D)-(I)
(4) (A)-(III), (B)-(11), (C)-(D), (D)-(IV)

Options :

9209067585. 1
9209067586. 2
9209067587. 3
9209067588. 4

Question Number : 97 Question Id : 9209061916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

List — 1 List - II
(A) M@ M
(B) ufErfasfs: (1) =
(C) H‘Hﬁ]ﬁ: (IIT) WHToT:
(D) (IV) ToETH:
Hzﬁ%@ﬂgﬁaﬁﬁgﬂﬁfﬁq@qﬁﬂa—

(1) (A, (B)-(I), (C)-(IV), (D)-(I1L)
(2) (A)-(I), (B)-(IV), (C)-(ILI), (D)-(1I)
(3 (A)X(V), (B)-(11D), (C)-(1I), (D)-T)
(4) (A)-(III), (B)-(II), (C)-(I), (D)-(IV)

Options :

9209067585. 1
9209067586. 2
9209067587. 3
9209067588. 4



Question Number : 97 Question Id : 9209061916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

List - 1 List - 11
(A) wgfa: M 4
(B) qﬁtﬂ?ﬁl’ﬂ%: (I =g
() mﬁqﬁ: (I1T) W
() (IV) TVRITH:
G{Eﬁﬁ‘f@?fﬂ ey FHEga [ -

(1) (A)-AD, (B)-(I), (C)-(IV), (D)-(I1L)
(2) (A)-(I), (B)-(IV), (C)-(ILI), (D)-(1I)
(3 (A)-AV), (B)-(I1D), (C)-(11), (D)-T)
(4) (A)-(III), (B)-(II), (C)-(I), (D)-(IV)

Options :

9209067585. 1
9209067586. 2
9209067587. 3
9209067588. 4

Question Number : 98 Question Id : 9209061917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

List - I List - II
(A) FwEEEIEE (1) SAfEvEERE S
(B) deEiwm (I1)  FEEmfe
(C) = (IIT) "ryE-rafEamdey
(D) wTAteEn (IV) Fag2ana:
seffaaay faeety Ty fogd -

(1) (A)-(I), (B)-(IT), (C)-(IIT), (D)-(IV)
(2) (A)-(IIL), (B)-(IV), (C)-(I), (D)-(1I)
(3) (A)-(IT), (B)-(I), (C)-(111), (D)-(IV)
(4) (A)-(IV), (B)-(I1D), (C)-(11), (D)-(D)

Options :

9209067589. 1

9209067590. 2

9209067591. 3

9209067592. 4



Question Number : 98 Question Id : 9209061917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

List - T List - T
(A) FEF@EIEIEE () SHAGTEaH JEE
(B) e (I1) =rEmfem
(C) #mo (IIT) Orye-TafaamdiEay
(D) wTpafaEn (IV) Fragmeamdt:
sefferaay ey Tt fagd -

(1) (A)-(I), (B)-(II), (C)-(III), (D)-(IV)
(2)  (A)-ID, (B)-(IV), (C)-(I). (D)-(II)
(3)  (A)-ID, (B)-(I), (C)-(I1I), (D)-(IV)
(4)  (A)-(IV), (B)-(III), (C)-(1T), (D)-(T)

Options :

9209067589. 1
9209067590. 2
9209067591. 3
9209067592. 4

Question Number : 98 Question Id : 9209061917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

List - 1 List - II
(A) FwEEEIEE (1) SAfEvEERE FEE
(B) deTEm (I1) HrEEmfem
(C) = (IIT) TryE-TafEaTdEy
(D) wepdferan (IV) FoF-earat:
sieffefaay fasety Tt fomd -

(1) (A)(D), (B)-(ID), (C)-(IIT), (D)-(IV)
(2) (A)-(II1), (B)-(IV), (C)-(I), (D)-(1I)
(3) (A)-(1ID), (B)-(I). (C)-(1T), (D)-(IV)
(4) (A)-(IV), (B)-(I1D), (C)-(11), (D)-(I)

Options :

9209067589. 1

9209067590. 2

9209067591. 3

9209067592. 4



Question Number : 99 Question Id : 9209061918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

List — I List - 11
(A) 1. T=9E: (I 1200%.
(B) 3. AFe=: (ID 1000,
(C) 3. wiforAfe: (I 7007%.
(D) . ¥ (IV) 5007%.
sefferfaay faseay S -g fomd -

(1) (A)-(IV), (B)-(IID), (C)-(1T), (D)-(I)
(2) (A)-(I1D), (B)-(IV), (C)-(I), (D)-(1D)
(3) (A)-(I0), (B)-(I). (C)-(IV), (D}-(11I})
(4) (A)-(I), (B)-(II). (C)-(III), (D}-(IV)

Options :

9209067593. 1

9209067594. 2

9209067595. 3

9209067596. 4

Question Number : 99 Question Id : 9209061918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

List — I List - 11
(A) 3. TH9E: (I) 1200%.
(B) HAI. FAFeis: (I 1000 3.
(C) . mforAfe: () 700%.
(D) 1. ¥99= (IV) 500%.
Sefferady fadeay Tt faqd -

(1) (A)-(IV), (B)-(111), (C)~(II), (D)-(T)
(2) (A)-(IID), (B)-(IV), (C)~(I), (D)-(II)
(3) (A)-(I0), (B)-(I). (C)-(IV), (D}-(11I)
(4) (A)-(T), (B)-(II), (C)-(I1T), (D)-(IV)

Options :

9209067593. 1

9209067594. 2

9209067595. 3

9209067596. 4



Question Number : 99 Question Id : 9209061918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

List — I List - 11
(A) 1. TI9IE: (I 1200%.
(B) #AI. AT (I 1000 %,
(C) 1. wiforeeTe: (IIT) 700 %.
(D) #. 8= (IV) 5007%.
sfefferfaay fasmety Ty fomd -

(1 (A)-(IV), (B)-(111), (C)~(IT), (D)-(T)
(2) (A)-(I11), (B)-(IV), (C)-(I), (D)-(1L)
(3 (A)-(IT), (B)-(I), (C)-(IV), (D)-(11I)
(4) (A)-(I), (B)-(II), (C)-(III), (D}-(IV)

Options :

9209067593. 1

9209067594. 2

9209067595. 3

9209067596. 4

Question Number : 100 Question Id : 9209061919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hed $od -
List - I List - 11
(A) WEOM O 11
(B) Ha: (I 12
(C) 9 (1) 57
(D) Wi (IV) 14
iefifeaay faseiy st fmd -

(1) (A)-(I1I), (B)-(II), (C)-(IV), (D)-(T)
(2) (A)-(IV), (B)-(T), (C)-(111}, {IX)-(IT)
(3)  (A)-IV), (B)-(I1D), (C)-(1I), (D)-(D)
(4) (A)-(IT), (B)-(IV), (C)-(L), (D)-(I1I)

Options :

9209067597. 1
9209067598. 2
9209067599. 3
9209067600. 4



Question Number : 100 Question Id : 9209061919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e $od -
List - I List - II
(A) WM @ 11
(B) @ (I 12
(C) (II) 57
(D) wiem (IV) 14
efifeaay faseuy Wi fod -

(1) (A)-(11I), (B)-(II), (C)-(IV), (D)-(T)
(2) (A)-(IV), (B)-(1). (C)-(111}, (I))-(IL)
(3 (A)-IV), (B)-(I1D), (C)-(I1), (D)-(T)
(4) (A)-(11), (B)-(IV), (C)-(L), (D)-(L1I)

Options :

9209067597. 1
9209067598. 2
9209067599. 3
9209067600. 4

Question Number : 100 Question Id : 9209061919 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e $od -
List - I List - 11
(A) W O 11
(B) ¥ (I 12
(C) ¥ (I 57
(D) Wi (IV) 14
efifefaay fasedy Wi fod -

(1) (A)-(I1I), (B)-(II), (C)-(IV), (D)-()
(2)  (A)-(IV), (B)-(I). (C)-(I1I), (D)-(IT)
(3 (A)-(IV), (B)-(ILI), (C)-(ID), (D)-(T)
(4)  (A)-(ID), (B)-(IV), (C)-(I), (D)-(1IT)

Options :

9209067597. 1
9209067598. 2
9209067599. 3
9209067600. 4



